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Question Number : 1 Question Id : 8135613521 Display Question Number : Yes Is Question
Mandatory : No

Presence of Floridian starch and formation of carpogonium is a unique feature of

Jocad F6y 2Bk 58 Aate do £8A Goditio B awwg) Swe| VLo

Options :
Porphyra
| » 60"

Chara
> & BT

Spirogyra
O go

Laminaria
e 0o

Question Number : 2 Question Id : 8135613522 Display Question Number : Yes Is Question
Mandatory : No



Who mtroduced Binomial Nomenclature for the first time?
BT TNECETI) GBI B HDIDBIB IHC?

Options :
Gaspard Bauhin (1623)

ot 7
- G erem (1623)

Carolus Von Linnaeus (18® century)

- SBOD 70 §) oW (18 3 3T°0)

Stephen Hales
DD S5y
% el

Nehemiah Grew

n Berdoir 3

Question Number : 3 Question Id : 8135613523 Display Question Number : Yes Is Question
Mandatory : No

The study of the development. structure and all other aspects related to microspore or pollen
grains

arg) ;‘btg Do G Do Bevd) e.aeD;ﬁacg, :J%eao 2cord ©dy D00000 (ry B
e.*:c:_’:&omao

Options :
Palynology

Dot TR0
1.4 =

Physiology
. 386 66, TRo



Phycology
B0 F*o

Mycology

%EOQ TR0
4, % =

Question Number : 4 Question Id : 8135613524 Display Question Number : Yes Is Question
Mandatory : No

The Technically complicated feature of all living organisms

2L VLTS BAD FoFAST VSN VLM DF) 0eTdd?
Options :

Growth
1w 20MGL

Metabolism
5 % CFel-{ovh)

Irritability

E(e

Reproduction

y x DOBD

Question Number : 5 Question Id : 8135613525 Display Question Number : Yes Is Question
Mandatory : No



Study the following table which shows different organisms with their taxonomic categories. Select the correct
option for A, B. C and D?

Common | Biological ' Phylum/
5 Genus Family Order Class ik
name name Division
Man Homo sapiens| Homo Hominidae | Primata Mammalia A
Musca ‘ ,
Housefly j Musca Muscidae | Diptera B Arthropoda
domestica
Mangifera : . . .
Mango G Mangifera C |sapindales | Dicotyledonae | Angiospermae
mdica
Triticum 0 ;
Wheat : Tnticom | Poaceae Poales D Angiospermae
aestivum

408 36 009Bottod. DS 670 Ay - 8 3660 6. o8 966" A, B. C. D e ooitod?

A — Non-Chordata. B — Insecta.
A — e9838057e0.

#®

B- "&'.5?&3“‘ s wasﬂgoﬁah.

Ferbn ?gdb BV por- L I RV IV A RV S48 3o
Do
G | Fa0wd  |Fr |(FDE | pae okl A
& iy Egs | Ry DYE |G B esgﬁ“c?
ArG [ drofdr et | Arofae | € [Rheddd | Blevdrw | udd dew
Fod | Odosmid |86 | Tavo | Tabda D ey Dere
Options :
A —Chordata. B — Insecta. C - Anacardiaceae. D —Monocotyledonae
o A-SOe B-addy. C-eodsdcdbd.  D-2¢6¥ deren
A — Animalia. B - Arachmida. C - Anacardiaceae, D — Monocotyledonae
| A-00Bair. B-oof)er.  C-odsfobd.  D- DSBS Daren
A —Chordata. B - Arachnida. C —Polygonaceae. D — Monocotyledonae
. A- SO B-eodyor. C-IdAchd.  D-d86¥ darew
3. Y

C — Anacardiaceae, D — Dicotyledonae
D — B(6¥ Darew



Question Number : 6 Question Id : 8135613526 Display Question Number : Yes Is Question
Mandatory : No

Free-central placentation is found in
ATy Sod IOET{R0 TI°RY) Q)

Options :
Dianthus

| o GairodDd

Argemone
s820°

Brassica
SgS oy

Citrus
D

Question Number : 7 Question Id : 8135613527 Display Question Number : Yes Is Question
Mandatory : No

Approximate diameter of pollen grain 1s
208 DTIGEVY TS, T°{R0 ROAFET

Options :

50 — 75 micrometer
50 — 75 208 e

75 — 100 micrometer
75 — 100 D08 oexed



25 — 50 micrometer
25 — 50 D& Nerdd
3. % == .

25 — 35 micrometer
. 25— 35 e

Question Number : 8 Question Id : 8135613528 Display Question Number : Yes Is Question
Mandatory : No

Match the following?

Mechanism Process Plants
(a) Viability (1) Oldest seed (p) Citrus
(b) Apomixes (11) Fruits without fertilization (q) Asteraceae
(c) Parthenocarpy (111) Many embryos (r) Lupimus
(d) Polyembryony (iv) Seeds without fertilization (s) Grapes
Sofd AN addbted?
airedSo R Q08) 0
(a) ow3d 38 (i) ¥ davo (D) 503
(b) ed0cirts 330 | (i) HOBG0 FLor DTN (q) edo
() g pode | (i) DS dotren (1) ePjRd
(d) exmomo0cies (iv) DASEne Gt JgTww iy | (5) TE
Options :

1 % (a—ii—p), (b—iii—q), (c—iv—r), (d—i—s)
5 (a—i—r), (b—iv—q), (c—ii—s), (d—iii—p)

3 x La—iig], (b—i=pk Lle—ip—u) {d—d—a)



4. » LAa=wrs=ug), Ch=i~g], (e==il-=p) (d-=1i—q)

Question Number : 9 Question Id : 8135613529 Display Question Number : Yes Is Question
Mandatory : No

Select the incorrect statement of pollen grains?
DT BEDPHVL Dotiodod) VOB S°A T&fo?

Options :
The outer layer is exine and inner layer is intine
| DD T erirg B¢ D2 Sdido ©, EHY TR 0B Do S50 Wobrdd

Sporopollenin most resistant organic material

- B ENCRL A SEDSTA (o DA S DoHob DeGo

Intine 1s made up of lignin

e90chd 2 S0 Elﬁqlé DB do
3. v @

Sporopollenin is absent near germ pores

D2 Sogre H& M \FI'OID sodcd
4. ® @

Question Number : 10 Question Id : 8135613530 Display Question Number : Yes Is Question
Mandatory : No

Select the incorrect statement of economic importance?
DOAEBEDPHL B398 A0S DS ROELIA 57 J7E(e?

Options:

Pollen tablets are used as supplements
- DTG PO 53556 R0 EDOITA M



Pollen products are available as tablets & syrups in the market

DTE ESyBoen S ATBe, DOV ErDee” VB
2. %

Carrot grass do not cause allergy

3685 TR 0998 9T b SuBoE
3.v & o

Pollen consumption increases the performance of athletes

. DTG DAGrHo 0 SES VS’ DAEGHD 3§ DAMD
4, ®

Question Number : 11 Question Id : 8135613531 Display Question Number : Yes Is Question
Mandatory : No

The pulvinate leaf base 1s present in
SO\0 Dot DG b0 (L DL,

Options:
Gloriosa superba

- afeloviy RODT

Glycine max

00 208y
2.9 &

Allium cepa
3 % e9®odo 2D

Solanum tuberosum
. Jerdo mémﬁfaﬁo

Question Number : 12 Question Id : 8135613532 Display Question Number : Yes Is Question
Mandatory : No



A distinct monocot character shown by the flowers of Liliaceae 1s

DDA e trded DS G¥ Dare w0

Options :
Hypogynous flowers
Eﬂccf.g&i"c;’)fge‘_’ﬂ DRaye

Actinomorphic flowers
A RH0H0S Py

Triunerous flowers

v Serosne e

Bisexual flowers

&Dorig e

Question Number : 13 Question Id : 8135613533 Display Question Number : Yes Is Question
Mandatory : No

Inner mitochondrial membrane 1s differentiated from outer mitochondrial membrane 1n

presence of
©od0 Bito EFir| Siiod eIV SDEol?

Options :

Cristae
=

1. 7

Porins

2 n T

Porins and cholesterol

L TB30 2080 Epg



Less protein and more lipid

L« 58 Sredgigoen 8oty ebs B

Question Number : 14 Question Id : 8135613534 Display Question Number : Yes Is Question
Mandatory : No

The name endomembrane system to the membranous organelles because

ejstﬁcm:ej SETolTOS) e9odh @5:5 b&ﬁfg 890 VLK) SGM0

Options :

Their membranes are attached
T SBUES000 eIBOSEIE G0t

Their functions are coordinated
5 v T DA BRVGTDo BODEIEIRD

They have only interconnected membrane
208 T°S” 2,88 ASLICD BN SRVDEIC. CIVEEIR

Their functions are not coordinated
78 DAL IRDNOGTTR DOTILIE D)

Question Number : 15 Question Id : 8135613535 Display Question Number : Yes Is Question
Mandatory : No



The lipid molecules present in plasma membrane have polar

Polar Head
3y 3T

heads and non-polar tails (as shown in figure) which option

represents the correct arrangement of lipids i lipid bilayer?

T $uod” 68) D1E e &I, e
SR SHas0cod. & i HOGH 0

Non-polar Tail
iy S

Options :

OOO0
LPP90

T
., 000G

YOYO
Rele

B9
9898



Question Number : 16 Question Id : 8135613536 Display Question Number : Yes Is Question
Mandatory : No

Significance of Mitosis includes the following. except

BAD DEYR) TOS” D DFRD @qu“ééej =28

Options:
Growth
1 % Pelebigblnll

Cell repair
SETO 200, B0

Diploid daughter cells
GLO3 DBS DYVSETED

(Genetic variation

Ly 20§ PIGo

Question Number : 17 Question Id : 8135613537 Display Question Number : Yes Is Question
Mandatory : No

Catabolic and anabolic pathways are often coupled in cell. why?
QoL Erd) & 200050 IDYD) 23700 Se085” DD G0, Aot IVR?

Options :

Both the paths are of the same energy

, 0ot argren 28 38 89 &0t
1.

The free energy released form one pathway is used to drive other pathways

| 8 S7Go” DA 33 otk 7o xS VAT AOLD



The intermediate of a catabolic pathway are used in the anabolic pathway
AN A7G085” DEISTD .‘fzrc;’;}g&b.t—‘. HEGo Dméeaéo:b@" DB AR
3 % ) 0 = @

Their enzymes are controlled by their same activators and inhibitors

. 2,8 GBS EBBEHVL HL, ATETO IV DoZD0ew VADGTLIEIN
4. ~—

Question Number : 18 Question Id : 8135613538 Display Question Number : Yes Is Question
Mandatory : No

Isobilateral leaf shows following difference with dorsiventral leaf. except
Q06 :}% Do €36 DTG HSeS tirdowd Biso

Options :
Stomata are present on both sides
0ot DD DY CoT O s&gmomm

Well differentiated mesophyll

5 & EFTT 830 Woldad DTotddo

Bulliform cells
end6) seren

Parallel venation
RNATroddd & aﬂéz’}ao

Question Number : 19 Question Id : 8135613539 Display Question Number : Yes Is Question
Mandatory : No

Bicollateral vascular bundles have

&5““}:3”3"6% TPs" Poaren $HHCIND) D



Options :
Xylem & phloem arranged on different radu
TR, J'NS Serwe VLW m&&g‘*u;& 920803060

Xylem surrounds the phloem tissue
A0S Serer) o8 TrEdY G0t

Phloem present on either side of the xylem separated by cambia

v DD AT TR Snarve &ol o"}e;“aa-ig S0EPU0D BRI 0INCEIRD

Xylem present on either side of the phloem separated by cambia

) T8 S0ererds) ADDT TAD) Gokt D] Sprvol DEBADLC.0DEED
4,

Question Number : 20 Question Id : 8135613540 Display Question Number : Yes Is Question
Mandatory : No



Match the following?

Tissue Cell type Function
(a) Parenchyma (i) Lignified (p) Radial conduction
(b) Collenchyma (1)  Isodiametric (q) Support growing parts
(c) Sclerenchyma () Xylem (r) Secretion
(d) Ray Parenchyma (iv) Pectinised (s) Mechanical support
308 TN BSHGHG]

SRarUred gmo 680 e
(a) 208 Emereo (i) OfyS Qroaa () a"é&g oo
(b) ;wv&ﬁ £ SHErvo (i1) K}.‘.‘na"lgrooé" (q) 2GR &r erred serde
() By Seaapwo (i) w3 1) Fdgad
(@) o oy smarvo | (iv) 28Sakns (s) odrods o

Options :
1@ (a—ii—r), (b—iv—q), (c—i—s), (d—iii—p)

5> x (a—i—p), (h=n—r) Ce—iit-—gq) (d—ir—g]

5 % (a—iv—r), (b—iii—q), (c—ii—s), (d—i—p)

4 = (a—ii—q), (b—i—s), (e—iv—p]), (d—iii—r)

Question Number : 21 Question Id : 8135613541 Display Question Number : Yes Is Question
Mandatory : No



Match the following?

Column-I Column-I1
(a) Subsidiary cells (1) Endodermis of root
(b) Passage cells (i1) Protoxylem
(c) Primary xylem (1) Lateral roots and cambial formation
(d) Heart wood (iv) Highly lignified and dark coloured xylem
(¢) Pericycle (v) Stomatal apparatus
o& AN 2dHtie6!
S - 1 S - 11

(a) edeI0 SEre 1) S aws) wod3\0}0

(b) 2nde serew 1) 2ETH

(d) et T Iv) Qs E)ﬁlf} SQ 0o, S bgoé‘ AR TR G0l

Bcdso

b(v

Y
(

(c) TGS TAOY (itf) 3“6\5 ) Sochakoo era SesErvo Aoy
(d) (iv)
(

@) V) og D00

Options :
1. % Ca—w) Ch—a) Ce=m) (d~iw) Ce=i)

5 % (a—i),(b—ii),(c—iii),(d—iv),(e—v)

3 % (a—v),(b—iii),(c—iv),(d—ii),(e—i)

4 v (@a=v),(b—i),(c—ii),(d—iv),(e—iii)

Question Number : 22 Question Id : 8135613542 Display Question Number : Yes Is Question
Mandatory : No



Hydrophytes are characterized by
Q& 2080 w80

Options:
Leaf reduced to spines
HEren £630D) SotISPeNT DEYEIRD

Well-developed vascular tissue
T 0030 Boh TYST Servo

Well-developed mechanical tissue
T 900)0 BobR alrods SHErvo

Increase in aerenchyma
THOINS Seazrvo D0 Bolko

Question Number : 23 Question Id : 8135613543 Display Question Number : Yes Is Question
Mandatory : No



Match the following?

Ecosystem services Examples
(a)  Supporting (1) Fiber
(b)  Provision (1) Recreation
(¢) Regulating (11) Crop pollination
(d) Cultural (iv) Flood protection

808 TN adHGe?

35063 ;bﬁ;‘ﬁ'g D [=agrs el T3
(a) 00 QPogs (i) ~6w
(b) HELe 67D (i) e30D&)
(c) .‘C}o:iaog;gw@és (1) QG © DT DodJ)0
(d) o8 Dotrod (Iv) SO Aa-de

Options :
| » La—1),(b=v) (c—m) (d=i)

5 (a—iii),(b—i),(c—iv),(d—ii)
3 % (a—iv),(b—ii),(c—1i),(d—iii)

4 x (a—ii),(b—iii),(e—i),(d—iv)

Question Number : 24 Question Id : 8135613544 Display Question Number : Yes Is Question
Mandatory : No

Transition state structure of the substrate formed during an enzymatic reaction 1s
DB BEE" E20VOHG 20 Ay ea0 & 0B Berg §8 o7y D0y CIRB. 26

Options :

1. %



Permanent and stable
E“%‘Se‘_’ﬁn bablalouhh) f‘gtﬁo

Transient and unstable

SA0DHBDGH 0BAKD ©RGo
2.9 i ®

Transient but stable
E20DBIED 520 Hdo
3. % = ®

Permanent but unstable

T30 =5 260
4, % ®

Question Number : 25 Question Id : 8135613545 Display Question Number : Yes Is Question
Mandatory : No

The essential chemical components of many coenzymes are
TY° DTABDVS” 8IS CI0DD WALV VT Eold)?

Options :

Carbohydrates
ﬂaadﬁmﬂgﬂw

Proteins

T

Vitamins

- DD

Nucleic acids
SoQ5TaT"eN



Question Number : 26 Question Id : 8135613546 Display Question Number : Yes Is Question
Mandatory : No

Identify A. B. C and D 1 the given figure and choose the correct option accordingly?

Q%b 508" A, B. C 20dato D 0k AoBotdoct. SR N0 Josy amlﬁ“ oG.”

Atmosphenie CO, : odda 00,
Plasma Membrane | | e
A VLA
) CelWall | = dndidido
i >
( By, Heichonol : K. 5 S -
| pyruvate i { Eﬂ-"ﬁl ]
B Regeneration : B W_}Q
} 1 ] + 1
€, acid C; scid ' C, o (3 80
Plasmo- E sRo
desmata i
= ZQRy~=—
C E C X
(‘ Transport Transport ! ( dow ey
J, Fiation by i & e
G O | g T
-Ir co, i 1 C0,
D i E D |coume
Options :

A —Mesophyll cell. B - Fixation. C — Bundle sheath cell. D — Decarboxylation

A-Dgodd smo. B-Fd. - ok G emo. D- 2NN
1.¢

A —Mesophyll cell. B — Decarboxylation. C — Bundle sheath cell. D - Fixation

, o A-DEod6sno. B- ESTYE\TRS, - Loi) Scorb §mo. D-JHY

A —Chloroplast. B — Decarboxylation, C —Bundle sheath cell. D - Fixation

| A-osta. B- T8Ol C-ipoar) Scord Smo. D-Fdd
3.



A — Chloroplast. B —Fixation. C — Bundle sheath cell. D — Fixation
| A-038m. B-Fd. € -poat) Seb gme. D-F0d

Question Number : 27 Question Id : 8135613547 Display Question Number : Yes Is Question
Mandatory : No

In the given flow chart, the pathway of water movement 1s shown from soil to xylem. Identify A - E

and choose the correct option accordingly?

30\ T 8 20,88 Kol ThD 268 A 1200 HE) BrDR. A #0d) E 0 80l
SGRMEONT 03 oS Aotk ol?

A Plasma membrane

Options:

A - Stomatal pore, B - Endodermis, C - Casparian strip. D — Symplast, E — Apoplast

A — D¢ dogo. B- Eﬂovj%bdéo. C- 5‘?03&@5 0. D -0, E-eod¥ra
1 . ® (A] o oo

A - Plasmodesmata, B —Palisade. € —Medullary rays. D — Symplast. E — Apoplast

. A - 862 @) worren, B - dozismervo, € — ¢3¢ Bpen, D - oD, E-ed’dD
2. & TR

A - Plasmodesmata. B — Endodermis. C — Casparian strip. D — Apoplast. E — Symplast

A — 56 3] o, B 0¥ 0lo. € —50\8a0d 0&. D - T F. E- oD
3. 6 e e

4. %



A —Stomatal pore, B-Guardcell. C-Medullary, D - Apoplast. E - Symplast
A -8 Gogo. B-déssmo. C-d3(0pen. D- ejﬁﬁé“fg. E- i:mé"gg

Question Number : 28 Question Id : 8135613548 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): The energy released by oxidation in respiration is not utilized directly.

Reason (R): The energy released is used to synthesize ATP.

R3\do (A): ?5‘&5,01)6‘ e.agaécsm S0 QBT 38 DS orT QAT HDEED.
s*8eso (R): OGS 38 ATP "n)o@?{qeaﬁﬁ DAATHDEID.

Options:
Both A and R are correct

| @ A S08c30 R 20 Gotsr 280D

Both A and R are not correct
A 208030 R e Godlr DB 5°)

A is correct but R 1s wrong
A 2THS 570 R DO

A is wrong but R 1s correct

A 20570 570 R 2B/

Question Number : 29 Question Id : 8135613549 Display Question Number : Yes Is Question
Mandatory : No



Match the following?

Column I Column II
(a) Cohesion (1)  Resist pulling force
(b) Adhesion (i) Water is pulled
(c) Tensile strength (111) Abulity to rise in trachea
(d) Capillarity (1v) Attraction between water molecules
(v) Attraction of water molecules to surfaces

So8) TR BSVGIG
00 - 1 2dn - 11

(2) Wowodo (i) s6m werd) AE)d &mgéo

(b) eondo (i) D erRcdRd

c) SR W (i) ord Aresed’ Gachadootd &mgﬁs

(d) 335 weo (iv) A8 e s e856e Lere

(V) Ghyd &ddero I8 o Soc] &) 86

Options :

1 ¢ (a—iv),(b—v),(c—1i),(d—iii)

L« (a—i),(b—ii),(c—iii), (d—iv)

4 » (a—ii),(b—iii),(c—i),(d—v)

Question Number : 30 Question Id : 8135613550 Display Question Number : Yes Is Question
Mandatory : No



Identify the following process and choose the correct option?

806 8% WBotsod HBAIN AT AoDER) Dotk olk?
@

®
Transport protein
@ s FAS
® Transpm‘ced molecule
da'w Dol Bt
L4

Duter side of cell
gm0 mendd Hido

Inner side of cell
Heno 500D g«’:’!’&a

Outer ude of cell
gmo D Lo

|
Membrane Membmne

&ido é&ﬁo

Options :

Facilitated dittusion

AODBBE DG
1.

Osmosis
faturraralels

Deplasmolysis
Seagsad| g cdo

Simple diffusion

4 PO¥ Do

Question Number : 31 Question Id : 8135613551 Display Question Number : Yes Is Question
Mandatory : No



Assertion (A): Plasmids are used as vectors in Genetic Engineering

Reason (R): Plasmids can be readily manipulated
DyBo (A): T EVRD B RoRNDAS” TIPET SDATHT
s°6t20 (R): é“?:é’f.wm ROZOMT TG0y RL. T3E0YeD BOSTND

Options:
A is correct but R is wrong
A 2838 572 R 200z

A 1s wrong but R 1s correct
A 28570 572 R 2008

Both A and R are correct and R 1s the correct explanation for A
A 208030 R 20 Godiar 2T <8030 R 0938 A € 28 D506

Both A and R are correct and R 1s not correct explanation for A
4 % A 208030 R 20 Godir 280 57 R @938 A £ 20 DH08 57

Question Number : 32 Question Id : 8135613552 Display Question Number : Yes Is Question
Mandatory : No



Match the following?

Column I Column IT
(a) Robert Koch (1) Transformation
(b) Lederberg and Tatum (1) Binary fission
(¢) Frederick Gffith (11) Germ theory of disease
(d) Lederberg and Zinder (iv) Conjugation
(v) Transduction

308 T BBDGHE
3608 - 1 560% - 11
(a) 0 ED (i) adoRBgDe
(b) Bcbwbbaioreo | (i) B NG
(c) 205 hod (1i1) '&ré&&;ﬁ 2D TR0 iag'*oao
() 9e:6 6 20Bosw 20G6 (iv) ®oaryo
(v) aamigb:ra‘m

Options :
. % (a—ii),(b—v),(c—iii),(d—1i)

, » (a—iii),(b—iv),(c—i),(d—v)
3% (a—i),(b—ii),(c—iv),(d —iii)

4 % (a—1iv),(b—1i1),(c—11),(d—vwv)

Question Number : 33 Question Id : 8135613553 Display Question Number : Yes Is Question
Mandatory : No

Which of the following disorder is seen in human female only?

& 208 TOS° DB AR Q S EINDB?



Options :

Down'’s syndrome

ﬁ"&:] 330@53

Haemophilia
Srardoir

Turner’s syndrome

E.JG;LED iﬁu@ XY

Klinefelter’s syndrome
SAPVEY Do
4.% < %

Question Number : 34 Question Id : 8135613554 Display Question Number : Yes Is Question
Mandatory : No

Select the incorrect pairs?

DBODS 2 57 A Botdol?

Options :
Expression of both characters- co dominance

. 2 wfrrod @dabhdohdo — D mijﬂgejejsn
1.

F; resemble either of the parents — incomplete dominance

F, 20806 20%). 28560¢5° 208 7S T’ Gott) — 900018 eardeieico
2. % E’ £ 0 .E‘J

Generation of non-parental gene combinations — recombination

3 % 2SS0 0o a30s). a@g@u SOV — A0 20

4.+



Change in single base pair of DNA — frameshift mutation

DNA & 28 2¢ 332 TUO 2306 J5rddy — VA &d8I60e

Question Number : 35 Question Id : 8135613555 Display Question Number : Yes Is Question
Mandatory : No

Number of adenylate residues added at 3" end of hnRNA

hnRNA cing), 3’ §36° e0d 2856 e0d3dren I B6\e&?

Options:
1.« 200 — 300

5 % 300 — 400

5 % 400 — 500

4 % 100 — 200

Question Number : 36 Question Id : 8135613556 Display Question Number : Yes Is Question
Mandatory : No

What are those structures that appear as beads — on - string 1n the chromosome when viewed

under electron microscope?

du5d Arg) 68\I6" HB2BodY EArT S’ mroly e pden srdyden ddod
o) e k)

Options:
Nucleosomes

_— Ar(Saird’

Nucleotides
SVEETVUI N



Genes
aeamé;‘g_jw

3. %

Base pairs

4 % =O 23D

Question Number : 37 Question Id : 8135613557 Display Question Number : Yes Is Question
Mandatory : No

Match the following?

Biotechnology Characters
(a) Insulin (1)  Forensic Science
(b) Gene therapy (1) Replacement of non-functional gene
(¢) PCR (1) Antigen Antibody interaction
(d) ELISA (tv) Plasnuds of E Coli
(v) Detect Mutation

808 T BANGI0G?
&3 o3¢ TRo DRSGT
(a) @30S (i) 6 HBFSD
(b) angi)éej‘) (i) Z}i.vigjo:ﬁﬂboe:&@a B[N Srddb
(c) PCR (iif) DAGEE 280 — DB 6L DEVNG €] e dor
(d) ELISA (iv) ESG awg) o6
(V) eagaagam S0 b
Options :

1. % (a—ii),(b—iii),(c—iv),(d—i)

> % (a—i),(b—iii),(c—v),(d—iv)



3 v (a—iv),(b—ii),(c—v),(d—iii)

4 % (a—v),(b—iv),(c—iii),(d—v)

Question Number : 38 Question Id : 8135613558 Display Question Number : Yes Is Question
Mandatory : No

Following are the steps included in genetically modifies organism except
2ADBIYS BPV 6A\OS” B30 TIB

Options :

Identification of DNA with desirable genes
ToBAODDD BRI AotsEo

Non transfer of the DNA into its progeny

, , DNA® T BT S6oS°S 2289 SoHed’ S0

Introduction of identified DNA into host
(£580D% DNA & 3800’8 1300

Maintenance of introduced DNA in the host
©3Boe*E HDHOS DNA & oot

Question Number : 39 Question Id : 8135613559 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): Statin have been commercialized as blood cholesterol lowering agent

Reason (R): Statin inhibit the enzyme which synthesis cholesterol

A3ydo (A): g"eﬁﬁm 6508 § 3 8lodd s°6Sorr m%es.é 6o )8 ST

s°6i0 (R): S EOFE D035 RotieBodd dog woi® T8oE MEesor 53 Sotwdd



Options :
A is correct but R is wrong
1 % ARDIS 57 R 20

A is wrong but R 1s correct
A 20570 570 R 20/

Both A and R are correct and R is the correct explanation for A

3 ¥ A SH0Bain R e Bodsr 28D <0803 R 938 A § 28D S0

Both A and R are correct and R is not correct explanation for A

4 % A 08030 R e Goter 280D 572 R 0938 A £ DT D566 5°¢0

Question Number : 40 Question Id : 8135613560 Display Question Number : Yes Is Question
Mandatory : No

Select the incorrect statement with reference to Bacillus Thuringiensis?
T @ﬁu&ﬂt‘bﬁbﬁﬁ RoZobot) RNBD 3“55:3 5e8?

Options:
It acts as biocontrol agent against butterfly caterpillars
2B HTEEDSL FofiP HAMLND ool LIS T¥5°0

Dried spores mixed with water and sprayed onto plants
Dodd Arg) Deowd DS 9B 20 BYIWN

The larvae which feeds on leaves with toxin gets killed

L x DTUR &) TTIED & Arg) Derodd Sdde DD WIV'T 0w

The scientists have introduced toxin genes mto caterpillars

4w TRIG Fon@ HB 5°28 DLHPoS B[PV DITDET D



Zoology

Section Id : 81356179
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40

Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Question Number : 41 Question Id : 8135613561 Display Question Number : Yes Is Question
Mandatory : No

The Binomial Nomenclature was popularised by
BGRPD) TRDECRR> T BID TS

Options :

Lamarck
e.:“;ﬁ:“&%

Jenner

Eéﬂlﬁ

Linnaeus

E‘J;S;lo:bfa

Whittaker
ﬁegé o)



Question Number : 42 Question Id : 8135613562 Display Question Number : Yes Is Question
Mandatory : No

The variation of life at various levels of biological organization is termed as biodiversity.

Which of the following i1s mismatched pair?

) o‘)isb'{gé‘ (ORS g“cmveﬁ" $008 £:5DD) B LIV 2 ke . & 8ot T8
2057 2 rbgoc.’)od'?

Options :
Alpha diversity — counting the number of taxa

% T Ao — BI"SH0e é}g;ﬁ"gt’i‘ 50 T3 otdtio T(T

Gamma diversity — overall diversity for different ecosystems

_ a0 Do — D6 BT HSE bs;ﬁ?@ae’i‘ﬂ) 3o DAY B TS otdtio LT

Genetic diversity — diversity at Genus level

L 20) PG — £ID .g“m:mﬁ’ DIGo T otdco BT

Beta diversity — diversity between two adjacent ecosystems

4 % Der Ddfo — I I BTH6e3 ;35;5“%39.166 &) 200 D) () T8) otito TT°

Question Number : 43 Question Id : 8135613563 Display Question Number : Yes Is Question
Mandatory : No

Which one of the following books were contributed by Linnaeus?

& $0& 5°e5° Elé;loj:fa GLot)d (foGio

Options :

Historia Plantarum
bg’ﬁoﬁr é‘“ofﬂ“ﬁo

Systema Naturae

H 33‘{3;&3“ 28



Historia Naturalis

3 % bg’ﬁoﬁr SoTedD

Genus Naturae

, x BOD 3D

Question Number : 44 Question Id : 8135613564 Display Question Number : Yes Is Question
Mandatory : No

Muscles of the heart are

P03 SotlT e

Options :

Straited and voluntary
o0 B0 Aok odh

Striated. branched and involuntary

5 @ oroe, FPAraing dain eadaioded

Non-straited and voluntary
ADAZY) Bk Ao eds

Straited. unbranched and involuntary
oo, T°ard.rred Sdain eadaiodieh

Question Number : 45 Question Id : 8135613565 Display Question Number : Yes Is Question
Mandatory : No

Which of the following animals are true Coelomates with bilateral symmetry?

S0 B DD Jzz 386 Liro SBA BEFG) I VBBt EHRY?



Options :
Annelids
| v o0

Platyhelminthes

é‘“ ey aéoc?:uf}

Aschelminthes
. uabauﬁ )oBD

Adult echinoderms

¢ 93SEB)er
4. %

Question Number : 46 Question Id : 8135613566 Display Question Number : Yes Is Question
Mandatory : No



Match the following and choose correct combinations?

Types of bones Method of formation Example
a) Cartilage bones 1) ossification in the soft tissue p) bones of cranmum
b) Sesamoid bones i1) ossification within the cartilage | q) Os cordis
¢) Investing bones ili) ossification in tendons 1) patella
d) Visceral bones iv) ossification i the embryonic 3) vertebrae
mesenchyme

& So8 M8 900 BBV JoaS Woel?

g 5 A0\ o GITOn

QIR ) SdosnEra @%aaao p) Sr0od’ kg
ANV L)

b) RAronE 1) Soyoerdyd w%aﬁmo Q) 80 503
ARSIV Dotito SO

Q) ST i) 37 oo evocsse v%abéo ) D6

Woltlo Y

d) eodtrof V) ot Sdj Breastazreo 5) §3dsen

DA0EW 90 Botitio IY
Options :

1% (a—i—p),(b—ii—q),(c—iii—r),(d—iv—s)

> x (a—idii—~5),(b—i=r),(c—iwv—p),(d—ii—q)

3 % (a—ll—=r)k(b—im—-s)le-—mw-qgl(d—1—-p)

4 v (a—ii—s),(b—iii—r),(c—iv—p),(d—i—q)

Question Number : 47 Question Id : 8135613567 Display Question Number : Yes Is Question
Mandatory : No



Which of the following statement is wrong related to Cephalopoda / Siphonopoda?

VST For pFOT T Potiodot) & $od D VLN POTAG TTE?

Options :
Shell 1s external in Sepia
| EJ“‘IJ'-‘TS Sdnjcﬁc — Ne03T

Shell 1s external & multi chambered in Nautilus

. e Hcew £9AD ey 8660 — TOOD
2.

Internal shell in Loligo
. e300 Sd:ido — e df

Shell 1s absent in Octopus

) w €660 G & — e.eg:;fa

Question Number : 48 Question Id : 8135613568 Display Question Number : Yes Is Question
Mandatory : No



Match List I with List IT and select the correct option from the codes given below?

List I List IT
1)  Nephridia a) Coelenterata
i)  Comb plates b) Platyhelminthes
1) Choanocytes ¢) Annelida
1v)  Flame cells d) Porifera
v)  Cmdoblasts e) Ctenophora

20060 O’ DEFoTOR WOED Toctd BIE' TOF adDGSeC?

!):31 QE': II
) s a) DB
ii) $05"5°6 DLW b) && ?J"Eléoc?ﬁ
iii) 06 grren ¢) e
iv) 2P(Ee SEre d) Jooo
V) Godseren e) OSTo

Options :
1. % Ci=e),fa—e) Cii=a)(iv—Db}&{v—d]

5 (i—c),(ii—e),(1ii—d),(iv—-b)&(v—a)

3 x (i=e)(n—a)(ii—e),(iv-b)&{(v—d)

4 % (i—e),(ii—a),(iii—d),(iv-b)&(v—rc)

Question Number : 49 Question Id : 8135613569 Display Question Number : Yes Is Question
Mandatory : No



Which of the following statements regarding coelenterates are correct?
1) Cnidoblasts present mostly on the tentacles and the body
11) Digestion is both extra and intracellular
111) Polypoid forms are free swimming
1v) Some exhibits metagenesis

v) Development includes a free-swimming ciliated larva the planula

RTEIBE5E DotoBod) S0 D DELDLL DBEHI?
) GoBSETe DL I Y6 YE"R0 SBOKD Biro MK Eotron
ii) SETOBR. SeaLPIry RS0 26 MB000
iii) DD DI &85 ED
iv) §9) SU°0 DS BB HESIow
V) 2DS B8BS" DS &8 300 T dozito Gotnod

Options :
Except (iii ). all are correct
DEOJ (i) Sy, B PBGID

Except (iii ) & ( v) all are correct
Do (iii) & (v) 3Dy, 0J) HBEHLHD

Except (i) & (iii ), all are correct
Dsedw (1) & (i) Sy, @bl rSlale bRV

Except (ii ) & (v ). all are correct

, n DSOR (i) & (v) &y, 8y HBIHD

Question Number : 50 Question Id : 8135613570 Display Question Number : Yes Is Question
Mandatory : No

Scientific name of Parrot

TrADeng ?fgoﬁa TS0



Options :
Heirococcyx
Poplebblaiop N

Eudynamys
O30EAD

Passer

F26

Psittacula

eS0T
4.v "o

Question Number : 51 Question Id : 8135613571 Display Question Number : Yes Is Question
Mandatory : No
Assertion (A): The development of amphibians takes place in aquatic habitat although they are first

vertebrates to come out of water on the land

Reason (R): Amphibians lay anamniotic eggs without a shell. which cannot survive in terrestrial habitat

TG (A): sondady 0B zo 06" 20030158 99 A8 dod devrdd S0\ Sup BN
RWORWALRSCELVY
56eio (R): ooy 50\0 i) &UQdf{J“é Ved b%rﬁﬁbﬁé. 98 P TEPS0mReE” Loty

Options :

Both A and R are correct and R 1s the correct explanation of A

1@ A 206a30 R e Godcr 20 000200). R @938 A S 2809008 05062

Both A and R are correct and R 1s not the correct explanation of A

5 % A 208030 R e Bod 208 @005, R 998 A & 2890005 23508 5°¢0



A is correct but R is wrong
A 2038 572 R 205

A 1s wrong but R 1s correct
A 28570 570 R 2600

Question Number : 52 Question Id : 8135613572 Display Question Number : Yes Is Question
Mandatory : No

‘Dicondylic skull” is characteristic features of

‘G5oads B 2 EHo a3E), wEe0?

Options:

Reptilia and Aves
282y Jren Sdot DLW

Amphibia and Reptilia
SZ0DBTE ABALD DEDIe

Aves and Mammals
HEren daiy Lomren

Amphibia and Mammalia
&HaDBTeN SBaL £ 6Tmen

Question Number : 53 Question Id : 8135613573 Display Question Number : Yes Is Question
Mandatory : No



Match the following related to flagella?

Organism Number of flagella
1) Trichonympha a) 2 (one long. one short)
i1) Trypanasoma b) 8
i11) Trichomonas ¢) Many
iv) Euglena d) 1 (arise from rear end)
v) Giardia lambia e) 4

STO5) Notohot) Sob TE Gt

2 STLPY Do)
i) O8Jor a) 2 (w8 T, wsd T8 )
i) OSTsr b) 8
iii) PEArTD ¢) e
iv) e d) 1 (20¢ artio Moot i)dbd )
v) 2airdodr erodosr e) 4

Options :

1. %
2 ¢ (i—c),(ii—d),(ili—e) (iv-a)&(v—Db)
3 % (i—a),(ii—b),(ili—c) (iv—-d)&(v—e)

4 % (i—e),(ii—d),(iii—c) (iv—-a)&(v—->b)

Question Number : 54 Question Id : 8135613574 Display Question Number : Yes Is Question
Mandatory : No

Which among the following 1s ‘Photosynthetic Protozoa’?

S0 T7S" S6222(VOAITHE0D 260 e wT?



Options :
Euglena

| oA

Paramecium

5 % o oh0h0

Plasmodiumn

ﬁ“if’é&.ﬁi}c

3.% 7

Trypanosoma

4 x OOIT &

Question Number : 55 Question Id : 8135613575 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): Larva of Wuchereria exhubits nocturnal periodicity

Reason (R): Feeding habits of its intermediate host comcides with the behavior of microfilaria

TEN (A): £S000Lr T ATTV B3R DGO R0l
560 (R): 650003 :quﬁlgﬁ)as BAGA BPEY) BUTLR NS HTBIr gagaé‘
BALSTVHAD TR0

Options :

Both A and R are correct and R 1s the correct explanation of A
A S8 R e Todér 00 90000, R @938 A € 2800 D66

Both A and R are correct and R is not the correct explanation of A
A 208030 R 20 oo 28 90080, R 938 A § 2000 D506 S°ed

A is correct but R is wrong

3 % A 2008 579 R b5



A 1s wrong but R 1s correct

4 % A 285760 57 R 2008

Question Number : 56 Question Id : 8135613576 Display Question Number : Yes Is Question
Mandatory : No

Match the following regarding the life cycle of plasmodium vivax. The correct combinations

are
Stage Cycle Product
i) Sporozoite Pre erythrocytic cycle Cryotozoites
i) Cryptozoite Exoerythrocytic cycle Metacryptozoits
i) Merozoite Erythrocytic cycle Merozoites
iv) Gametocyte Gametogony Gametes

I édoi)o DTSy 2ad YOHD Dokodow) 08 TR WBDet.. BN SLASH HBotiod?

(L] 2uodo AR o bdﬁéﬁ
i) &D&‘a@wﬁ 68 St 2P0 o ég’wmg}:
ii) égwomi 8¢ St i wSo 2067 égﬁavampp
iii) Qofaras 64 &0 3o B zrontn
V) Rodlridagme  DusH'dd Rodiridaren

Options:
(i) & (ii) only
1 % (i) & (i) o

(ii) & (iii) only
9 % (ii) & (iii) Sorgdddo

(i), (ii) & (iii) only
5 (1), (i) & (iii) Sorgd



Question Number : 57 Question Id : 8135613577 Display Question Number : Yes Is Question

Mandatory : No

Larva of ascaris perform extra mtestinal migration through the following organs in the body of

man

[a—

Heart

6) Pulmonary arteries

11) Small intestine

(]

Liver

7) Trachea

12) Alveol

Lo

8) Larynx

13) Bronchi

4) Hepatic portal vemn

9) Qesophagous

14) Glottis

)
)
) Lungs
)
)

5) Post caval vemn

10) Stomach

15) Pharynx

68,00 T°0 A7 30608" & §obd BIANTV BT EPF(EFIVR Y0 )RVeA?

) ool 6) 2% SR 11) D3y arb

2) w&ado 7) TosnT¥o 12) arabofsoen
3) &HB%w §) 403 13) FoTos
4) G e R 9) essFdaTers 14) go6de0

5) Qa0 0 10) @xsaio 15) g

Options :

1% 224-21-5-3-6-12-13-14-15-7-8-9-10->11
2'\,/4—>2—r5—}1—>6—>3—312—>13—>?—>8—>14—315—>9—>10—>11
4-52-5-1-6—-3-13-7—-12-8—-14-15-9-10—-11

4 % 4-+1-5-2-3-6—-12-13-7-8-14—-15-9-10-11

Question Number : 58 Question Id : 8135613578 Display Question Number : Yes Is Question



Mandatory : No

How many Terga are visible in male cockroach?
2065 657 GoS Do) ) DR} DVS"LD LICLL EdIron?

Options :
1.v¢ 9

, 10

Question Number : 59 Question Id : 8135613579 Display Question Number : Yes Is Question
Mandatory : No

True coelom of cockroach occurs
Eﬁ"%uﬁ Do D F86LTC0 QSEFC‘. sSOc?

Options:
Around gonads

D7 ot
1.9 >

Around heart
L5080 B8

In thorax
&0o (Do)

Below heart
Soyesado Sodd



Question Number : 60 Question Id : 8135613580 Display Question Number : Yes Is Question
Mandatory : No

The rate of conversion of light energy into chemical energy of organic molecules m an
ecosystem 1s
A 900 J(H0G" Somadfotiridons’ S6yd DG 88 Bnd DA0otrd?
Options :

Gross primary productivity
are DS ET\GSS
Lo BTOe -

Net primary productivity
- DEG FreE ET RS

Secondary productivity
- &Séo:i.a GTNBES

Gross secondary productivity
e B0 ST \GSS
4 % @

Question Number : 61 Question Id : 8135613581 Display Question Number : Yes Is Question
Mandatory : No

Nature and properties of soil depends upon

Q0B A0S, WETPDe QB U7 e SONDS STGHEIR?
Options:
Weathering and climate

3OO0 2BAIw S NDA
1.¢ % -

Soil erosion never depends
L x POES D6 BTrEHES



Never etfected by climate
%ngga DeTH0 Gokdd

Never affected by weathering
IS13) i:ﬁhus;ﬁn Vedo Eoticl

Question Number : 62 Question Id : 8135613582 Display Question Number : Yes Is Question
Mandatory : No

Which one of the following is not a functional unit of an ecosystem?

So0d T35 DB BT H0e ;3?5;5"%: aa0E), ﬁu‘h“’eﬁé&‘- DA ST

Options :
Stratification

| Rbson

Decomposition

PN

Energy flow
38 DT o

Productivity

&E"Dd&‘pé

Question Number : 63 Question Id : 8135613583 Display Question Number : Yes Is Question
Mandatory : No



Match the following related to sound pollution?

ListI List IT
1) The Human ear is sensitive to a) >120dB
i) Threshold limit of hearing b) 120dB
1) Noise pollution ¢) 0dB
iv) Threshold limit for sensation of pain d) 0-1204dB

ég S“mix"ébé 2020800, $08 T 28H0HE?

Bfg I b:g II
1) AP B feotdriv) 30 a) 120 dB S0 J5.S
i1) S:)E;)l DNSC, 08 :I”tg.') b) 120dB
111] ’é%) E"&D:.‘,%o c¢) 0dB
iv) Bod 53333 $9Rodd 'r")bd‘)&) 206 :J“rg.') d) 0-120dB

Options :
1 o Li=d]), (=e), (i=a)&(ir—b)

, x (i—¢), (ii—a), (iii—b)&(iv—d)

3 % (i—b), (ii—¢),(ii—d)&(iv—a)

4 % (i—d), (ii—b), (ili—a)&(iv—c)

Question Number : 64 Question Id : 8135613584 Display Question Number : Yes Is Question
Mandatory : No



Identify the possible link ‘A’ in the following food chain:

‘ Plant —P| Insect —P| Frog —» A" +—» Eagle

S0 3756 Feani docd “A” ag‘ﬁotﬁﬁﬁﬁéé:

o,

208 —H S —B SOy —H AT — 649

Options :

Parrot
o Wews

Rabbit
Sodien

Wolf
SEeD

Cobra

p—

Question Number : 65 Question Id : 8135613585 Display Question Number : Yes Is Question
Mandatory : No



Select the correct sequence regarding the levels of ecological organization?

a. Community b. Organism

¢. Tissue d. Ecosystem

e. Organ f. Landscape

g. Cell h. Population

1. Biosphere J. Organ - System
k. Biome

2T56m B(326606" DG FoNOD B S6R §2008" B260d?

a. RaTrRo b. 2

. Sreo d. 237568 ;::5;.‘:‘%
e. 0030 f. Zrdods,d
g S0 h. azer

i S85F%o j odabhs SR
k. 83 oo

Options :

1% 8>c—e—>j>b2a->h-sf-d-ok-i

5 % g+c—2e—~j—2>b—-h—-a—-f-d—-k—i

B'V,g—>c+e—>j—}h—>h—>a—>d—>f~»k—>i

g2c—2b—=sjoe—-h—sa-s-fo2d—-k—i

4, %

Question Number : 66 Question Id : 8135613586 Display Question Number : Yes Is Question
Mandatory : No



Match the following?

List I List IT
1) Bowman's capsular hydrostatic pressure a) 60mmHg
i) Net filtration pressure b) 18 mmHg
1) Glomerular hydrostatic pressure c) 32mmHg
1v) Glomerular Colloidal osmotic pressure d) OmmHg
e) 10mmHg
S08 TR BBDGWE?
BE_:; I ﬂfg I

) D M08 20 H3e RIS a) 60mmHg

i) 8 LTS Hckdo b) 18mmHg

3 §
iii) H3odrod 20VBE Dedo ¢) 32mmHg

iv) Hadrod Sgrance sd)ds dido d) 0mmHg

e) 10mmHg

Options :
1 % (i—b),(ii—e),(iii—c)&(iv—a)

> % (i=e) (ii—b),(ii—a) & (iv—=c)

3 o (i=b),(ii—e),(iii—a)&(iv—c)

4 % (i—b),(ii—d),(iii—a)&(iv—-rc)

Question Number : 67 Question Id : 8135613587 Display Question Number : Yes Is Question
Mandatory : No



Internal structure of heart 1s shown m the

figure with lables1 to 6. Identify them

correctly?

? 1
270820 0030 T30 1 00D 6 4 "
©030S 2rTred MHBDR Hho 5
aaxetod. TH B0 MBotsol? 3

6

Options :

1 - Left Atrium, 2 - Tricuspid Valve, 3 - Left Ventricle, 4 - Right Atrium, 5 - Bicuspid Valve, 6 - Right Ventricle
. 1- 06 €08, 2 - 808 Sao. 3 - eido 2608, 4 - 86 806 5 - B8 8o, 6 - 836 2608

1 - Right Atrium 2 - Tricuspid Valve, 3 - Right Ventricle 4 - Left Atrum. 5 - Bicuspid Valve, 6 - Left Ventricle
1-20¢ sgs. 2- @03 880, 3 - 8G: 2608, 4 - sgs. 5- E)S‘JJQ a0, 6 - i) 2608

1 - Left Atrium, 2 - Bicuspid Valve, 3 - Right Ventricle, 4 - Right Atrium., 5 - Tricuspid Valve, 6 - Left Ventricle
1- $06. 2 - A8 8o, 3 - 8 2608, 4 - O B, 5 - 808 S0, 0 - e 2608

1 - Left Atrium. 2 - Bicuspid Valve, 3 - Left Ventricle, 4 - Right Atrium. 5 - Tricuspid Valve, 6 - Right Ventricle
1- 6 886, 2 - 608 S, 3 - iido 2608, 4 - 86 §08. 5 - 808 Satio. 6 - 83, 2668

Question Number : 68 Question Id : 8135613588 Display Question Number : Yes Is Question
Mandatory : No



Match the following related to blood vessels?

Character

Arteries

Veins

1) Location

a) Thickener

p) Valvular

i1) Lumen

b) Non valvular

q) Thinner

ii1) Valves

¢) Deep seated

r) Wide

1v) Tunica media

d) Narrow

s) Superficial

BSTm08) Dotlolow) S0 T 2SN

Vg0 (ARVENTIV e {3V
i) guao a) oo p) b
i) o b) &8 Giredo Q) Heosd
iii) Sareren c) 3860 &0 1) dFVo
iv) o6 Soogo d) w68 5) 306 &nbdvo

Options :
_— (i—c—s), (ii—d—r), (iii—a—q), (iv—b—p)

5 % (i—d—-r), (ii—a—q), (lli—c—s), (iv—b—p)

3 J(:i—c—s), (ii—d—r), (iii—b—p), (iv—a—q)

4 % (i—-d-r), (ii—a—q), (iii—b—p), (iv—c—s)

Question Number : 69 Question Id : 8135613589 Display Question Number : Yes Is Question
Mandatory : No

Human body temperature is maintained by
ATHHAS” Bl &gﬁeﬁm RooBot3d

Options :



Cerebral cortex
mg;:;_, ;ﬁubuo

Hypothalamus

PG
2.¢ =

Medulla oblongata
mgﬂ;ﬁnmn

Pituitary gland
et e i~

Question Number : 70 Question Id : 8135613590 Display Question Number : Yes Is Question
Mandatory : No

Transverse section of spinal cord 1s

shown in the figure with labels 1 to 5.

Identify them correctly?

D) P 'S 1 -5 eosend
TR HBoWR Do BILd. TE
20 Hdotol?

Options :

1 - Dorsal Horn, 2 - Posterior Median Sulcus. 3 - Central Canal. 4 - Anterior Median fissure, 5 - Ventral Hom

v 1= T’.JQ%J 3yotfo, 2 - D00 ;‘.\Jcﬁé 6. 3- 308 5)9.)5. - gy ;‘)Jr.‘éé Ao, 5 - &6 Byoffo
1.

1 - Posterior Median Sulcus. 2 - Dorsal Horn, 3 - Central Canal, 4 - Ventral Horn. 5 - Anterior Median fissure

5 % 1-30r0dd :nc;ﬁ]g M, 2- ;‘Jéfg #ofo, 3 - S0 339-’5- 4 - 666 Byoffo, 5 - Q008 :qu Do



1- Dorsal Horn. 2 - Antertor Median Sulcus 3 - Central Canal. 4 - Ventral Horn. 5 - Posterior Median fissure
1- L’Ja%‘{ 3yoffo, 2 - 3’;}‘0"50@ ZUQ'S 6. 3- %08 SJU'S. 4 - &30 #yoffo. 5 - DTved :m:;lg 260
3 #

1 - Ventral Horn. 2 - Posterior Median Sulcus. 3 - Central Canal. 4 - Dorsal Horn. 5 - Anterior Median fissure

4w 1 - &6 3yofo. 2 - DTPod o‘.uc;Sé 6. 3 - Sofd 5)05. 4- ;‘Jaa'él #yoffo, 5 - ‘JQ_TU“SoéQ) m% D660

Question Number : 71 Question Id : 8135613591 Display Question Number : Yes Is Question
Mandatory : No

The endocrine gland responsible for regresses with age of an individual s
Bi%o0s’ TS ards[8 Siroid 0BT fod

Options:

Pituitary gland
22035073 (Jodd

Thyroid gland
BT0DE (Jod

Thymus gland
DD (o8

Pineal gland
50D o

Question Number : 72 Question Id : 8135613592 Display Question Number : Yes Is Question
Mandatory : No



Match the following and choose the correct combination?

List I List II
1) Cell mediated immunity a) Skin
i) Help ‘B’ cells to produce antibodies b) Inflammation
iii) CD Markers ¢) Killer ‘T’ cells
iv) Furst line of defence d) Glycoproteins
v) Second line of defence e) Helper ‘T’ Cells

o8 T3 BAHOW, DTN VATTTHoA oS BaboC.?

031 91
) Se o0 B Ases a) oo
ii) ‘B DoJei0rd D800

b) ex(uddn
DABSPVR &Y B

iii) CD &6 6en ¢) roths ‘T Sered
iv) HES 6¢0 6 d) 08 s,
V) B(Bob 656 69 e) Tn6 T goren

Options :
1.« Ci=e), (il —e), (lii—d), (1v—a), (v—b)

> % (i—¢),(ii—d),(iii—e),(iv—a),(v—Db)

3 % (i—c),(ii—e),(iii—a),(iv—d),(v—b)

4 % (i—c),(ii—d),(iii—a),(iv—e),(v—-b)

Question Number : 73 Question Id : 8135613593 Display Question Number : Yes Is Question
Mandatory : No



Diagrammatic sectional view of ovary is

shown in the figure with labels 1 to 5.

Identify them correctly?
3 D0 ©odd) o) r0 e Do 1

od) 5 rrred Radod. TH Lo

(2Botdod?

Options :

1 - Primary follicle. 2 - Graafian follicle. 3 - Tertiary follicle. 4 - Ovum, 5 - Corpus luteum
- 1- FEas DS, 2 - oo DBS. 3 - HdaD LS, 4 - Boke, 5 - 6y W5é301)o

1 - Primary follicle. 2 - Tertiary follicle, 3 - Graafian follicle, 4 - Corpus luteum, 5 - Ovum
. 1- Fes s, 2 - BydaD YAS, 3 - THaH s, 4 - 56y w&ﬁcﬂ)o. 5 - ®otio

1 - Primary follicle. 2 - Tertiary follicle. 3 - Graafian follicle. 4 - Ovum. 5 - Corpus luteum

L ol Feis e, 2- Bydas YOS, 3 - THELS YBE. 4 - voto. 5 - 56y ardatoe

1 - Primary follicle. 2 - Graafian follicle, 3 - Tertiary follicle. 4 - Corpus luteum. 5 - Ovum
. 1 - TGS S, 2 - T20DA YOS, 3 - Bydah S, 4 - S0\ wﬁe'.’mm. 5 - otio

Question Number : 74 Question Id : 8135613594 Display Question Number : Yes Is Question
Mandatory : No



Match the extra-embryonic layers in column I with appropriate function mn Column IT

Column I

Column IT

1) Amnion

a) Protection

1) Chorion

b) Fluid environment

111) Allantois

¢) Nourishment

iv) Yolk Sac d) Excretion

2ot EPP(BIETeD T8 DGV 2BHBL DT VATEVo HBoSec.

SN I S II
1) N a) 0£e
1)  DT°0I0) b) aerddto
iii) e9oto ¢) Je
iv) JTaRet) d) S“n}ga

Options :
(i—a),(ii—b),(iii—d),(iv——c)

1. %
> % (i—d),(ii—c),(iii—b),(iv—a)

5w (i—c),(ii—a),(iii—d),(iv—b)

4 (i—b),(ii—a),(iii—d),(iv—c)

Question Number : 75 Question Id : 8135613595 Display Question Number : Yes Is Question
Mandatory : No



Study the following and choose wrong statements related to human reproductive system
1) Corona penetrating enzyme is secreted by acrosome at the time of fertilization.
i) Fertilization occurs in infundibulum of fallopian tubule,
i11) The genetic part of sperm 1s 1ts neck region.
1v) A pair of uteri are present in pelvic region.

v) Ovaries are the secondary female sex organs.

AT A)e) Qﬁ)ﬁé‘)@ ;55;5”':353 0208008 Sob TEA the) VIR HSLNVA Jos Waded.
i) PUAEEH 20008 E T STTRAGHA B ) PAWB.
i) FED0HD TS’ Teret)ss’ DuHESHR 28MHEA.
lii) 30880 0N, 2RV Me WE Fodod” Eotwod.
iv) T30nY Fodods’ wE 2 (T 05700 ok o.
v) D DafTen o3 o Brdah gohs vaahTe.

Options :
Except (i). all are wrong
| o (1) 80y oA ©) Dseden BOSY.

Except (i) and (ii ). all are wrong
. (i) Sododw (ii) 91’9‘3.33. HOD E.‘):);l PSR/ VOSTY).
2.

Except (iii ) and (v ). all are wrong
3 % (1ii ) S08asw (v) 9Dy, ADD ) DS VOSYY).

All are wrong

4 % ©9) PSLDW DOS"Y.

Question Number : 76 Question Id : 8135613596 Display Question Number : Yes Is Question
Mandatory : No

Mendel formulated the law of purity of gametes on the basis of

20ES 33 09D TSR eSErdo



Options :
Back cross
1. % V5" Dosdeao

Test cross
DO 20800

Monohybrid cross
3 DS VoS0 NoSbo

Dihybrid cross
:ﬁS oS0 RDosde

Question Number : 77 Question Id : 8135613597 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): A Geneticist crossed 2 plants and got 50% tall and 50% dwarf progenies
Reason (R): This cross follows mendelian law as one of the parent plants might be

heterozygous

DEabo (A): 2,8 2R TRIS Toth) 0E) VA VoS0 20200 T8 Romrdod” 50%
2008) 0 T, 50% g en TEITD &) 2

5680 (R): 20 ot HoHD 9R00IST ATGo 92BN BAN 2ISIG0E” 288
:):;mmméa A8, Ty

Options :

Both A and R are false
A 208080 R 2w Sodle 2057

A 1s true but R 1s false

5 % A 2B0LAG 5 R b5~



Both A and R are true and R 1s the correct explanation of A
3 v A 508050 R a0 Sods 280D 08030 R e9:0356 A A5 280 Do

Both A and R are not explained properly
4% A 08030 R e RBGLAD D6 5

Question Number : 78 Question Id : 8135613598 Display Question Number : Yes Is Question
Mandatory : No

Match the following and find the correct combination?

Sod B 25VGL), ABN VAT doars oot

Parents Blood type in children Genotype of children
L1 ALY SRV 65580 DLV 260
a) (I*1B) & (1°19 i) A&O p) (19 (1°1%
b) (19 & (1°19 i) AAB&B q (I*1°) (B9
o) (IAIB) & (IAB) m) A&B N (IA18) (I*19) (1B1°) (1°1°)
d) (19 & (IB°) iv) AB,AB&O s (*BY(PE) B
Options :

1 % (a—i—p), (b—ii—q), (c—iii—r), (d—iv—-s)
, » &gl tbB—i—p) Le=ili—x) (d—ii—q)
3¢ (a—iii—q), (b—i—p), (c—ii—s), (d—iv—r)

4 « (a—ii—p), (b—i—-q), (c—ii—r), (d—iv—s)

Question Number : 79 Question Id : 8135613599 Display Question Number : Yes Is Question



Mandatory : No

Assertion (A): X - ray images show areas of different densities and composition in different
diagnosable forms
Reason (R): A beam of X - ray is produced by an X - ray generator and s projected on the

body parts.

0% (A): X - 860 g0 SOIE Folde) oo, Do) Mo/ :Jg'dea
Sabrie e’ drdFran.
560 (R): X - 860 607\(58 0ogre (T &3 B3 X - 861 5700 ord) Bired'd

TP DRBHBFE.

Options :

Both A and R are correct and R 1s the correct explanation of A
A 0Bain R a0 Sodir 8 e9000). R @938 A € 2Besond DHoee

Both A and R are correct and R 1s not the correct explanation of A

- A 208030 R e Godir 20 e20004). R 0928 A & 2809000 )08 5°¢

A 1s correct but R is wrong
A 2038 570 R 2057w

A 1s wrong but R 1s correct
A 2857 57 R 20D

Question Number : 80 Question Id : 8135613600 Display Question Number : Yes Is Question
Mandatory : No



Match the following. The correct combination is

List I List IT List III
i . B . p) Diagnosing neurological sleep
a) X -ray 1)  Electrical activity of brain ; §
: disorders
b) CAT A N q) Proton density images of body
- 5 paits
¢) EEG i11) Beam of X - ray r) 2D images
1v) A large donut shaped X - : :
d) MRI ) . P s) 3-D cross sectional picture

08 T BBHOW, VO VATTH oS Babod.?

B.Eg I 0.53 II Wg IMI
D 6@ D m,ﬁ 5 D) TE Dokl /a) eﬂb?g:a‘gvm
2y X-stee Losr S0 6t BosErdS
q) G Y TEP Fodd
b) CAT i) 959 3¢ Odedn
' woe
¢) EEG ii1) X - $60 5708 Qoo 1) 8Doto 0 2D tdo
iv) 28 6 EJE 5o’ ;
d) MRI : $) 3D wcofd Ogo
&) X- 366 adodo &
Options :

1 % (a—iv—r), (b—iii—s), (c—i—p), (d—ii—q)

, ¢ Ca—iii—=r), (b—iv—s), (c—i—p), (d—ii—q)

3.

g La—T=p], (r—ai—g) (e—=1—gq ) (d~=m=p)

4 % (a—iii—r), (b—ii—s), (c—i—p), (d—iv—q)




Physics

Section Id : 81356180
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 40

Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Question Number : 81 Question Id : 8135613601 Display Question Number : Yes Is Question
Mandatory : No

Identify the incorrect statement from the following:
& S0 TS 20 == TE(D0R?

Options :

Energy. mass and force are conserved.

3S, GOT°3, WA DSBS BHTOW
1.4

Yukawa gave the theory of nuclear forces.
Sogs pere i:g“u@“h;l ainsTae @DoDBI"CD

Strong nuclear forces have the shortest range of order of 1071° m.

D00 Sogs weren 1071° m HBATme (v vy T Lere

Both gravitational and electromagnetic forces obey inverse square law,
(EE(E6E Lo 20B05) DAEWOHIY0d WEFLY Totr JE'H 3G oAy FBIow

Question Number : 82 Question Id : 8135613602 Display Question Number : Yes Is Question
Mandatory : No



If the length and fime period of an oscillating pendulum have errors of 1% and 3 %

respectively. then the error in measurement of acceleration due to gravity is

e BR0%) a8 G'osin ang) T baky EvTdgs Tous” rw S
1% 0808 3 % e, fododq eqGeasiy fiedocscods” B

Options :
1.% 4%

2.% 5%
3.% 6%

a9 7%

Question Number : 83 Question Id : 8135613603 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): An object can possess acceleration even at a time when it has a uniform speed.

Reason (R): It 1s possible when the direction of motion keeps changing.

65 (A): 50009 P05 5D0 69y 0y84 €3 A" 1Y S6EF) A Gotod.
S0 (R): S0 GI08), B30 BF Srador) 26 98 eS8,

Options:

Both A and R are true and R 1s a correct explanation for A
1« A 200080 R Socl 20 oD, R, A £ 2Bwond DH6e

Both A and R are true but R 1s not a correct explanation for A
A 080k R Godor 28 90080, R, A £ 2d900d D566 s5°¢L

A is true. R 1s false
3 % A D0 20028, R 28 2200288 ¢



A 1s false. R is true
4 % A RO LANJG 59, R 00 ands

Question Number : 84 Question Id : 8135613604 Display Question Number : Yes Is Question
Mandatory : No

When a bomb 15 released from an aeroplane. the path described by it as observed by the pilot is
DT Aol 8 EPotdd PO, POE B3R ot AW, Arg:w IH?

Options :
straight line

REF0a S7rdsan
1.9 i

Projectile

5 DEDSIW

depends on speed of aeroplane
DOFHA0 IEDCE BTEHEED

1none
D8 =

Question Number : 85 Question Id : 8135613605 Display Question Number : Yes Is Question
Mandatory : No

A body initially lying at a point (3, 7) starts moving with a constant acceleration of 47 . Its
position after 3 seconds 1s

28 50 (3, 7) Dot 99 R EEARY 47 ‘?gd @565’3:1).5936 SN . 3 S
SOTS & gva;m

Options :



, % (7,18)
3% (7,3)

L (21, 7)

Question Number : 86 Question Id : 8135613606 Display Question Number : Yes Is Question
Mandatory : No

A stream of water flowing horizontally with a speed of 15 m.s™" gushes out of a tube of cross-
sectional area 1072 m?, and hits a vertical wall nearby. The force exerted on the wall by the

impact of water. assuming it does not rebound. 1s

107 m? S06s(\08 DT[N (R 28 FRw wabus AHTra0 15 m.s 7! dand
£82 DATOBOINT SR GI6S ML VPFER ¢ Eotnd) 6. NBTE, BDArS0
2 (i 56 08 T8 &arold) HED HOUFfodd LAY

Options :
1« 225x10° N

, % 250X 10°N

;3 % 30X 103N

4 % 35%X10°N

Question Number : 87 Question Id : 8135613607 Display Question Number : Yes Is Question
Mandatory : No



Particle A 1s released from a point P on a smooth inclined plane.
which makes an angle @ with the horizontal. Simultaneously from
P another particle B 1s projected in the same direction. with an

mitial velocity u, at an angle f§ with the horizontal. If both A and B

meet again on the inclined plane. @ and f are related as

A & S0 $3208 @ Seaidn BR0D) 48 MDY TSR P 03 Dotidid) Aood:
POD0D NG, 08 H20DS’ B 0 8¢ grdw 0d Hodd) P &od u 0k §Dded
B €308 9§00 BohRHB. A 208050 B Smi0w) 88A Teudwsp SRRV oW a

b f o (e Dotaodo
Options :
8 T
aF =
1. % 4
- T
i s 5l
2. ® b 6
it
atf=—
3.¥
$p=—
a ——
4, % 3

Question Number : 88 Question Id : 8135613608 Display Question Number : Yes Is Question
Mandatory : No
A metal ball falls from a height of 32 m onto a steel plate. If the coefficient of restitution 1s

0.5. the height to which the ball will rise after second bounce 1s

w8 S wod 32m I Aodh DO HUEP HAIB. ;;u"?g;jg“a Aeago 0.5 008, Tokd
38 H0ER B4 SHTS 0B Jod IR Tiwed?

Options :

1. % 4m



s w 2m
3 ® 8m

16m

Question Number : 89 Question Id : 8135613609 Display Question Number : Yes Is Question
Mandatory : No

The physical quantity in translational motion. which 1s analogous to moment of nertia m
rotational motion 1s

g“a"oeﬁd BORAY" D FAET°F Fon VIS LGS EPRVSBNVR VATRD0?

Options :
Velocity
1 % 2080

Force
ADFubb)

Energy
33

Mass

Q;ﬁﬁcﬂ%

Question Number : 90 Question Id : 8135613610 Display Question Number : Yes Is Question
Mandatory : No



A horizontal beam is pivoted at 0 as shown in the figure. What should ~ _, ; , {

be the value of mass “m’ to maintain the beam in horizontal position?

HRADS’ miaag,n 202 ATt i}bw 0 &.‘Jg PG00 m;ales. |—|

Q0 BRI (£82 DIToBE20T) EothPS ©IVED @) 3 [ ]
Lky
‘m” A SAHAN?

Options :
1.% 2kg

> % 1lkg
3.v kg

4 % 25kg

Question Number : 91 Question Id : 8135613611 Display Question Number : Yes Is Question
Mandatory : No

A solid flywheel of mass 20 kg and radius 120 mm revolves at 600 rpm. Find the total force that
must applied by the brake so that the flywheel stop i 3 seconds. given the coefficient of friction

between the wheels and brake lining is 0.1.

20 kg 33, 120 mm 650 4903 8 3 (3308 wgw 600 rpm Send
SOMIDI)B. & (TS 5D 3 5L TVRS V4SS 30 B8 B dod LLALS
508 00380801797 (15630 20BaK B5 G © 2065 206 LMY 0.1 T Guod)

Options :
1« 80m N

, % 24m N

3 % 70m N



4% 60 N

Question Number : 92 Question Id : 8135613612 Display Question Number : Yes Is Question
Mandatory : No

Two springs having force constants k, and k, are stretched till their elastic energies are equal.

If the forces required for stretching them were F; and F, respectively, then find F, : F,.

ot YorHe mu?gc“osﬂm ky 08080 ky. T8 Go), NEF0 DDA LR TE
FHGTE. Fhow weren F, F, weowd F, ! F, =

Options :
1. % kl : kz

5 o ik

3 % kailky
. ol
4 % kg ik

Question Number : 93 Question Id : 8135613613 Display Question Number : Yes Is Question
Mandatory : No

The displacement of two particles of same mass executing simple harmonic motions are
o m . g g :
x; = 16sin (l[]t T —) and x, = 25 cos(wt) respectively. The value of ‘w’ for which the
5 }
energies of both the particles remain the same is

28 §(03 $DAR Both SrreD VOV ) § TR BRvet) T8 gég:;o?w % =

16sin (mr ) E) 20808 ¥, = 25 cos(wt). Dot Eoru) 28 33 G0l T8 ‘@’ Dewd

Options :



1 % 16.4 unit
9 % 10.2 unit
3 % 25.5unit

4« 0.4 unit

Question Number : 94 Question Id : 8135613614 Display Question Number : Yes Is Question

Mandatory : No

A body of mass 100 kg 1s lifted from earth’s surface to a height h = 5R. The change in
gravitational potential energy of the body is . (Given the radius of earth R =
6400 km. Also. on earth. g = 10 ms~?)

100 kg Qbéﬂ“’? (10 28 S0P F> &D8BLAD ol h = SR BN S 2)@0&)&6‘3&:.
oo & 03 G1og), o HB $36°D Artyy Jod? (& TrGo=6400 ki oty
g=10ms™2 e &8ol)

Options:
% 213%x10° Jkg™*

1
5 & 233X 10° Jkg™?
3 % 333x10° Tkg™!
4 % 6.63x10% Tkg™*

Question Number : 95 Question Id : 8135613615 Display Question Number : Yes Is Question

Mandatory : No



A geo-stationary satellite is orbiting the earth at a height 7R from the earths surface. If the
satellite 1s pulled 1n to a closer orbit which 1s at a height R from the earths surface. its time
period becomes (R 1s radius of earth)

&r 6H8sws 7R a)e;wﬁ 28 a;rg‘bd &(faran ;‘JE}Q?}JQ%&:. Lod #r enddedwn
Aoc R ;)e;p@“ eal 200030S &Rra0 cﬁnsb 8308 VAN dodh? (faébr: R ©3d &r
m&&gmm ArLd)

Options :

1&,3}17"3

) % 3v2 hrs

3 % G\E hrs

— hrs

6
4.% V2

Question Number : 96 Question Id : 8135613616 Display Question Number : Yes Is Question
Mandatory : No

The bulk modulus for an incompressible liquid is

e::"coaﬁac.‘ié G0:20005) e30HD (IS

Options:

Infinity

1. e90ehaa)

Between 0 and 1

5 % 0;5060‘.1.}319.};.‘13;55

Zero

-‘:‘J\J"Ebém.)
3. %



Unity
4 % @ST0SAL

Question Number : 97 Question Id : 8135613617 Display Question Number : Yes Is Question
Mandatory : No

An aero plane is m a level flight. at a constant speed and each of its wings has an area of

25m?. If the speed of air on the upper and lower surfaces of the wing are 270 kmph and

234 kmph respectively, then find the mass of the plane. (density of air = 1 kg.m™)

25 m’ PFopin 900 35 0k $BAcD) 28 Dirdin ?Sd::&e.‘i‘ DDOOSR) . 8D
60000, Sob &DdGrY Qﬁg ® S Sdvore 270 kmph 208050 234 kmph eand, &

DArDA g Q;ﬁﬁﬂ"a_(ﬂ“g Foged = 1kg.m™3)

Options :
1 % 1000 kg

, % 2500 kg

5 % 4500 kg

4 » 3500 kg

Question Number : 98 Question Id : 8135613618 Display Question Number : Yes Is Question

Mandatory : No



A metal ball immersed in alcohol weighs W; at 0 °C and W, at 50 °C. The coefficient of critical
expansion of the metal s less than that of the alcohol. Assuming that the density of the metal is
large. compared to that of alcohol. it can be shown that

28 5°F) od &) e & B0 6:9) Q@ 0°C G erddon Wy odatn 50 °C grdiw
W,. §°an 2080840 J’ﬁg £ S0 &30 e Soff AL, &30 o e e
Sod) T 8 9. WY

Options :
1 % W, > W,

2. % W, =W,

v W< W,

Question Number : 99 Question Id : 8135613619 Display Question Number : Yes Is Question
Mandatory : No

The study of physical phenomenon at low temperatures (below liquid nitrogen temperature) is

called

98 e‘.’BSJZ’b &gﬁﬁéu (& O ﬁg e &) ;‘.‘:tg AR Cﬁaﬁgﬁo‘ﬁ);‘mv @qﬁgub?ﬁrl
900

Options :
Refrigeration

N ELECEEY

Radiation
5 % 2S6ESAD

3.v



Cryogenics
5,011‘“23:@3

Pyrometry

88
4, % =TS

Question Number : 100 Question Id : 8135613620 Display Question Number : Yes Is Question
Mandatory : No

A bimetallic strip is made of aluminum and steel (@, > @t,.;). On heating the strip will

S & 18 surEhaie Bakn J5E Saird Soede. ¢ o TS
26 DB

Options :
remain straight
@é‘lﬁ“ GotLol

get twisted
5 % 20D DO

bend with aluminum on concave side

- DETSCo D) wwéc‘.’b:)omo Sorad

bend with steel on concave side
2DEPTGo D) S Do

Question Number : 101 Question Id : 8135613621 Display Question Number : Yes Is Question
Mandatory : No



An engine has an efficiency of 0.25. When temperature of sink reduced by 58 °C. its efficiency

is doubled. Temperature of the source 1s

@S Codad CE) &mgé;:m 0.25. oS egﬁ(ﬁ@ 58°C éﬁé, ) 3“;5335;5.‘0 Gegof.‘,}_j
BB, BASAD &gdé

Options :
1. % 150 °C

, % 222°C
3 % 242°C

4 v 232°C

Question Number : 102 Question Id : 8135613622 Display Question Number : Yes Is Question
Mandatory : No

How much work 1s done by 2 moles of helium gas at constant pressure in raising the

temperature from 0 °C to 100 °C ?

f.macs Sedaw 362 ard v DoHDy Trakn) aiog), &8 0°C 200d 100°C &
Do) 2OAD DI dodh ?

Options :
1. ¢ (200)R
9 % (100)R

5 % (300)R

4 % (500)R



Question Number : 103 Question Id : 8135613623 Display Question Number : Yes Is Question
Mandatory : No

V (cc)
The heat absorbed by the system in going through the
cyclic process shown in figure 1s 300
SH030E" ot Bhab pdab Mot TP - ’
3493 89 TR000CS 610

200 400 p (kPa)

Options :
1.% 304 1]

5 v 31417
3 % 3247

4. % 334 ]

Question Number : 104 Question Id : 8135613624 Display Question Number : Yes Is Question
Mandatory : No

300 cm? of a gas at 27 °C is cooled to —3 °C at constant pressure. the final volume is;

27°C &8, 300 cm® 20803600 SBH 8 a0y NOLERAN 3¢ ~3°C &
SUDOEENG. & TOH0) DA IVBALHIN Jod?

Options:
1 % 300 cm?

5« 270 cm®

3 % 150 cm?



4 % 135 cm?

Question Number : 105 Question Id : 8135613625 Display Question Number : Yes Is Question
Mandatory : No

Which of the following properties of a wave is independent of other?

$08 TEe5” @ BCoriHN AIVE) VELLIBN DBoBLANTT Gotol?

Options :

Velocity

Frequency
- 2 R:2) )0

Amplitude
3 o S0 DHBDB

Wave length

o BOONBGED

Question Number : 106 Question Id : 8135613626 Display Question Number : Yes Is Question
Mandatory : No

For most distinet interference patterns to be observed the necessary condition is that the ratio of

mtensities of light waves from the two coherent sources should be:

DRRD IS0 D800 D6GErdS, Gocd Dotadh 08 2RED ok DL0SE: 3% Jind
Dod Gotrd?

Options :



3. ®  IE-Be

4. % 1:4

Question Number : 107 Question Id : 8135613627 Display Question Number : Yes Is Question
Mandatory : No

Match the following?

Column I Column II
(a) r° ()  Point charge
(b) (i1) Thin infinitely long wire of uniform linear charge density
0 I i (1) Infinite uniformly charged plane sheet
(d) r2 (iv) Electric field on the axial line of short electric dipole
208 70D BEDCDR?
S8R -1 S - 11
(a) 10 (1) Dotk HBATEs AT
@) r (ii) o908 Ted)d) ) &rf adog), De8S Gdos esD8F088
(©) 1 (iif) VSO SDISN Bdod DB HVS
@ r? (iv) 28 D) Dekogd A d0 v, wah Gap DS
Options :

1@ (a—1i),(b—ii),(c—1iv),(d—1)

, # (a—ii),(b—iv),(c—i),(d—iii)

5 % (a—iii),(b—iv),(c—1i),(d—ii)



4« (a—iv),(b—iii),(c—i),(d—ii)

Question Number : 108 Question Id : 8135613628 Display Question Number : Yes Is Question
Mandatory : No

In a region of constant potential

26 TEJoeS £DAD HBIAS
@ o

Options:
The electric field 1s zero

_— DEND GO0 FIPROLH0

The electric field is uniform
DAS BN 5 DSOS Eotwod

The electric field changes necessarily if a charge 1s placed outside the region
e DETS DUWDY 28 BITI)) GoNS, BNS TSN HCEOW

There can be no charge inside the region
es DB%o 5DV DWDoL) eSDFAD Gokdd

Question Number : 109 Question Id : 8135613629 Display Question Number : Yes Is Question
Mandatory : No



A dielectric slab of thickness 1.5 cm and dielectric constant 6 1s placed between the plates of a

parallel plate capacitor of plate area 0.1 m” and separation 3 cm. Change in the capacity of the

capacitor due to the introduction of the dielectric slab 1s

L5 cm 006300 000t Dekogd Eese Homosiaw 6 e Dekogd Bese o) o 0.1 m?
DT 20800 3 cm P63 (o VATLSE DV SFILE | Gotr . IS B¢
B2 B0 J0R BTG STHAS" Arcdy dods?

Options :
1. ¢ 21 pF

5 % 20.5pF
3 % 29.5pF

Question Number : 110 Question Id : 8135613630 Display Question Number : Yes Is Question
Mandatory : No

If resistance of a conductor 1s 5 Q at 50 °C and 7 (1 at 100 °C. the mean temperature coefficient

of resistance of the material 1s

28 TErgaw ang) e 50°C 3¢ 5 0 S0baso 100 °C 3¢ 7 0. HErdsn awe),
o eX0er ABES Mngaw Jod?

Options :
1. ¢ 0.008 /°C

, % 0.006 /°C

5 % 0.004/°C



4 % 0.001 /°C

Question Number : 111 Question Id : 8135613631 Display Question Number : Yes Is Question
Mandatory : No

Five wires having currents [; = 14., =2A. L, =3A. ;= 1Aand [; =

4 A cut the page perpendicularly at points 1. 2. 3. 4 and 5. The value of me ~ ,~" ™~ ™~ ]
o — — /
integral of B around the dotted closed path is (ie. § B.dl) is ! o)\ 94 \

1
I ™2 i

S 30rd8 vonin 6d) 5 Srud” ddd podfen | = 14, L ®®3 ® )
\ /

=241 =3A1,= 14200 | =44 2bed) GO 306 .7

-

/

dSotam B 0308, Sosargusin deod (ie. § B.dl)
Options :
1.% 0

5>« Ho Wb.m™?
3 % 2Ho Wh. m~1

4 % Yo Wh.m™*

Question Number : 112 Question Id : 8135613632 Display Question Number : Yes Is Question
Mandatory : No

A galvanometer of resistance 80 () 1s converted to an ammeter by a shunt resistance r, =

0.04 (. Value of 1ts resistance 13

a0 80 O do rwSa“boemJ 2085 Qe 7, = 0.04 0 58 e::h)éeadarr CVNEYY
&) B0 Jenddy L0Fa0?

Options:
1. % 0.02 0



5 » 0.040
5« 0.080

4 % 0.060Q

Question Number : 113 Question Id : 8135613633 Display Question Number : Yes Is Question
Mandatory : No

: : § : g : ; 2
A coil having an area 2 m? is placed in a magnetic field which changes from 1 Wb m™* to

s ; % s ; R
4Whm ° 1s an mterval of 2 sec. The emf nduced in the coil 1s

2m’ proo $90% a8 Sritwko 2 sec © 50 HWBE" 1 Whm * &od 4Whm &
4778 008 SBANS” Gotrw. AfHLS” HOSA] IBEYVE BV Jod?

Options :
1. % 4V

) @ 3V
3 % L5V

4% 2V

Question Number : 114 Question Id : 8135613634 Display Question Number : Yes Is Question
Mandatory : No



The currents i two coils of self-inductances 5 mH and 1 mH are increasing at the same rate at
a certain instant, The power supplied to the coils is also same. Then identify the false statement

among the following:

Coco) Sff £V CE), R(ON0 OSSN 5 mH BAL 1 mH. IFT VJoHIS” & &
ot 26 B0 DS TP DALER TS SV &mg"éw RAT B0
&) o, ©00d & So& TS’ WO TEA?

Options :

The ratio of induced emf's1s5: 1
W Arawdid5:1

The ratio of current in the coils1s 1 : 5
B TS DS DI B 1: 5

The ratio of energy stored in the two coils at that instantis 1: 5
€5 R:00030065° B RS D Jug &d) 3DV WG 1: 5

The ratio of energy stored in the two coils at that instant 1s 9 : 25

po @ 0000085 A6 £ Jud &) DO ]G 9 : 25

Question Number : 115 Question Id : 8135613635 Display Question Number : Yes Is Question
Mandatory : No

In an A. C. circuit. the current:

28 A.C. d0030:5808°, DS DITTB

Options :
always leads the voltage
o STE ST°) S0 G0t



always lags behind the voltage
STE ST°) DS ot

1s always in phase with voltage

- Sg.:% &%e5° ot

may lead or lags behind or be in phase with voltage
, o S8& ST S0006I5°R, DRALS"R ot

Question Number : 116 Question Id : 8135613636 Display Question Number : Yes Is Question
Mandatory : No

The amplitudes of electric and magnetic fields in a parallel beam of light of mntensity
12Wm™2 are . Given, permittivity of free space is 8.85 X 10722 Fm L,

12 Wm™ 8383 $D0% w8 2r0d6 08 Qoass™d DiofS B o) 0d &8
g0 HBDAED SO (3t o3rd8 G0y 90,88 28,85 x 10712 Fm ™)

Options :
x9S NC' & 317x1077T

2 ¢ 951N g 33T %1977T

3 = 95.1 NE™ & 3168xX107°T

4% 95 NC ' & 31.68x107'T

Question Number : 117 Question Id : 8135613637 Display Question Number : Yes Is Question
Mandatory : No



The correct curve between the stopping potential (V) and intensity of incident light (I) is:
A &8 ﬁ“ﬁgaﬁﬁ (V,) 2080k H% 570d 38 (Do Q06[ DT S50

Options:

r

Vo

2. &

Y
r g

4. %

Question Number : 118 Question Id : 8135613638 Display Question Number : Yes Is Question



Mandatory : No

A doubly 1onized lithium atom 1s to be excited from first to fifth Bohr orbit. The wavelength of

radiation required is
&q 0HA% S0 Baecd ddabo DEATRS) AN d0d Lo &5°6 555056 A3 adado

DODLEAA. BIG2H 2868 @doﬁ“@_‘%o‘ﬁn Jodh?

Options :

| % 1056 X 10 ° m
5 » 1056 x107°m
3 % L13X10°m
4% 113%10°m

Question Number : 119 Question Id : 8135613639 Display Question Number : Yes Is Question
Mandatory : No

The output for the given circuit s A

& Su0hHA AWE) nglﬁm} B Y
Options:

, x (A"B)-B



4 % (A-B)-B

Question Number : 120 Question Id : 8135613640 Display Question Number : Yes Is Question
Mandatory : No

A transmitting system of height 20 m and the receiving antenna of height *h” are separated by
a distance of 40 km. for satisfactory communication in line of sight mode. The value of *h’ 1s

. Given, radius of earth 15 6400 km.

8 DAOE AIrolTr) AE), A 20 m VO Tare QiredT) g I h . ) Gy

Bar DEGY" o8 VAT S 40 km EreA0Y” SWDCIRE &) 0. BONS h =

Options :
> 45 m
4 % 25m
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Question Number : 121 Question Id : 8135613641 Display Question Number : Yes Is Question
Mandatory : No

The total number of spectral lines possible when an electron relaxes from the 6™ orbit of a
hydrogen atom 1s

TERS DOSTENY) 6 D g“cmé BB JUED mgﬂwé B HSS” oy S0
200830 ‘rboaJTS Joeh?

Options :
1. % 21

5 % 10
3.% O

4. v 15

Question Number : 122 Question Id : 8135613642 Display Question Number : Yes Is Question
Mandatory : No

Which of the following graph correctly represents the variation of particle momentum (P) with
de-Broglie wavelength (1)?

dotd Brnedad Gar Agrud’ I8 ¢ @i (P) & 59 sdofs Qg"é:}é (1) e
P02)06e0) B0

Options :

o

P

5,




w

2. % A
1
k
Y
3. % 1‘;;
1
4.9 l’ff’:

Question Number : 123 Question Id : 8135613643 Display Question Number : Yes Is Question

Mandatory : No

A metal is irradiated with a radiation of wavelength 360 A. If the minimum energy required to

eject the electron from a metal is 5.5 X 10~ J, then the maximum kinetic energy of electrons

ejected from the metal is approximately

w8 &) 360 A Borggaiw o D3OS BB, &7 od VTN
BEID. 8 GPan otk VD B SV SHVHY $I0 3§ 55X 1077

00S DWHED VT AG3S (102 D dod?

Options :
| % 5010717



19

, x LEIE =g

3 ¢ 5Xx1071%]

4 % 510777

Question Number : 124 Question Id : 8135613644 Display Question Number : Yes Is Question
Mandatory : No

Choose the correct increasing order of atomic radii corresponding to the elements Ca, Sr, Cl, S.

Ca,Sr,Cl S805n S &8 T8 HEAr ;r*]@“g“u esBsres €00

Options :
1.‘,,(?1.’ < 5« Ca = 8

;& Ca < Sr < El = §

3 8 Sr < Ca < S < Cl

Question Number : 125 Question Id : 8135613645 Display Question Number : Yes Is Question
Mandatory : No

Assertion(A): Be and Mg have low negative electron gain enthalpy.

Reason(R): They have fully filled ‘s” orbitals and hence no tendency to accept an electron.

a-?bamm; Be SoBoto My oo 859 S awe augﬁ g“f’.:% a)ot:“bbw £DR &otoi.
5800(R): 3370 odid esaawgm 40A GocobdOD e aug"é A foroid 54 $OA o).

Options :

1. %



Both A and R are true and R 1s a correct explanation for A
A 208030 R Gotir RDOAHAD. 08cin R 938 A § 2DBAD DO6ee

Both A and R are true but R is not a correct explanation for A

, s A 208050 R Gottr 283D, AR 036 A & 28D D366 5

A 1s true. R 1s false

5 » ARBIHB, 52 R 2B 5@

A 1s false. R 1s true
, o AR T, =0 R 28a056

Question Number : 126 Question Id : 8135613646 Display Question Number : Yes Is Question
Mandatory : No

Assertion(A): Magnesium has lower first ionization enthalpy than Aluminium.
Reason(R): Magnesium 1s larger n size compared to Aluminium.

RENBA(A): ww@:ﬁ)dm ot mﬁlbcrbo Qos), S 00 &)oﬁ“b;) B8).
sdnsn(R): @Wéﬁ:nomo DO HBArE0 Sobd mﬁlizxo:bo 207eR D00 GA.

Options:
Both A and R are true and R 1s a correct explanation for A
| % A 2508030 R Godor DBGDAD. 08030 R 0998 A § DB DDH6e

Both A and R are true but R 1s not a correct explanation for A
A 508050 R Gotr 28R, 50 R 038 A & 20000 D6 s

A 1s true, R 1s false
A 28EDHO, 0 R %8 57

A 1s false. R is true
A 28 50, 520 R 28a0d6



Question Number : 127 Question Id : 8135613647 Display Question Number : Yes Is Question
Mandatory : No

The number of lone pairs of electrons on the central atom of PCl; 15

PCl; eog bw&me‘iﬁ S0 DOJTENYP (L 2080 JVE 2obiw R0 doeh?

Options :
1.% 0

Question Number : 128 Question Id : 8135613648 Display Question Number : Yes Is Question
Mandatory : No

Which of the following species contains equal number of ¢ and 7 bonds?
$08 erRHVS’ ¢ BV T Lo Q08 VB DorT £0h &R e IB?

Options :
1. % M0

> XeO,
(coch),

3. %

4 % HaSO,



Question Number : 129 Question Id : 8135613649 Display Question Number : Yes Is Question
Mandatory : No

Identify the correct among the following:

(1) Bond angle of NH, is greater than that of NF,.
(i1) Bond angle of PF; is less than that of PH .

(iii) Bond angles of NH,, NF,, PH,. PF, are all equal
(iv) Bond angles of NH, and PH, are equal

Sobd TES° LBV DIBT Y ABoSW:
() NH, 206Et0d0 NF, 60656300 ot &)
(i) PF, 2068ed0 PH, 8068600 Sobf S8
(1) NH,.NF;.PH,.PF, e E‘.‘Jb‘l DTS L0BETren Sd
(iv) NH,. PH; @0 2359 eo6Stren sod

Options :

(i) only

(ii) only
5 % (ii) Srredo

(iii) only

s (i) 2@

(iv) only
4% (iv) Sorgddo

Question Number : 130 Question Id : 8135613650 Display Question Number : Yes Is Question
Mandatory : No



Using the following data. 1dentify the correct order of liquefaction of gases NHy. HCL. €0, and S0,.

A GBoT) GO0 Aow) B0LN ToinHY Qbéc&eac Dot D(EPSo0 0E), PO S0

[ Mg, =649 T, (S0,) =430K]
[ Mgo, =449 T,(CO,) =304K|
[My, =365g T, (HCl)=325K]
[Myg, =179 T, (NH;) = 405K

Options :
1 % C0, > HCl > NH; > S0,

5 ¢ 3502 > NH; > HCl = CO,

3 % 50, > C0; = HCl > NEH;

, » NH3 > HCL > €O, > S0,

Question Number : 131 Question Id : 8135613651 Display Question Number : Yes Is Question
Mandatory : No

At what temperature, the rate of effusion N, would be twice the rate of S0, at 50 °C ?

50 °C 365 S0, a3y DdyGtso Bots BE Doz B8 O e 38 N, Tatwd
ﬁ’cohdﬁo Bota?

Options :
1. 292 7570
2 % 565.25 °C

3 % 87.5°C

4 % 75°C



Question Number : 132 Question Id : 8135613652 Display Question Number : Yes Is Question
Mandatory : No

Find the amount of K, Cr, 0, needed to oxidise 15.2 g FeS0, in acidic medium,

(Given molecular weight of K,Cr,0, = 294 g: molecular weight of FeS0, = 152 g)

52 OIFRS0E’ 15.2 g FeS0, &0 esdy8Bochigh 30 K, (1,0, aroan (rawes’)
2odd? (K,Cr,0; e B(o2 294 g, FeS0, ot @03 152 q)

Options :
1 % 245 g

Question Number : 133 Question Id : 8135613653 Display Question Number : Yes Is Question
Mandatory : No

The Vapor density of a mixfure of NO, and N, 0, is 38.3 at 26.7°%. Calculate the number of
moles of NO, in 100g of the mixture

26.7% 36 N0, 30Bais N0, 3suan erigy Fogd 38.3. 100g M3oswe” NO,

QTR0 ‘rbo&}.)zg

Options :
1.« 0.437

5 % 0.537



5 % 0.347

4 % 0.490

Question Number : 134 Question Id : 8135613654 Display Question Number : Yes Is Question
Mandatory : No

The enthalpy of neutralization of oxalic acid by a strong base is —25.4 kcal. mol ! while the

enthalpy of neutralization of a strong acid and the strong base is —13.7 keal. equiv ™. Then find

ST N 2-
the enthalpy of dissociation of H, C, 0, = 2H" + (,0, .

28 VDR T6od @m%saea 366" errdsy 80250m dordy Dewd ~254 keal. mol ™.
B UM TGS w8 VO BT é&a%ﬁc&sa DX €56] G008, ém%ﬁdm Doty Dews

4 | ot 2-
~13.7 keal.equiv™. @ad, H, , 0, = 2H" + (0, 561% adras dogrdy

Options :

. kcal. mol ™"

5 o 2 keal. mol™t

3 % 3.5 kcal. mol™

4 % 5.2 kcal. mol

Question Number : 135 Question Id : 8135613655 Display Question Number : Yes Is Question
Mandatory : No

Consider a reversible reaction Ny(g) + 3Hy(g) = ZNH; () . K¢ and Kp are related as

Nyg) + 3Hy(g) = 2NHs () @3 B8 6[6° K 20800 Kp © S065] Doioesidun

Options :



1. % Kp = K¢

, % Ko = K¢ (RT)
3 u Ko =K (RT)?

4 v Ke = Kc (RT)™?

Question Number : 136 Question Id : 8135613656 Display Question Number : Yes Is Question
Mandatory : No

The gas A, in the left flask 1s allowed to react with gas B, present in right flask as

Ay(g) T Bagg) = 24By) 5if K, = 4. at 27 °C, What is the concentration of AB when

equilibrium is established?

4 moles
B,
3 litres, 27°C

2 moles
A,
1 litre, 27°C

A T AR 4, Taio), e s’ DY) B, TS $ob tf)d?g 25°0o tf)ﬁé
ToddA. Ay(g) + By(g) = 24B(y) ;
275 ojg K. Dend 4 o0 ddvoe E:):@ b%ﬁ AB 6 Joeh?

Options:
1. % 1.33 M

, % 266 M
5 v 0.66 M

4 % 033 M



Question Number : 137 Question Id : 8135613657 Display Question Number : Yes Is Question
Mandatory : No

The P¥ of a solution of H,0, is 6.0. When Cl, gas is bubbled through this solution, which of
the following is correct?

H,0, grdeasdoo PH Dend 6.0 . Cl, roswdydd H,0, gradessw T(0° D0 &
s P dend . 808 DAWTRS” D8 HBHG?

Options :

The PH of resultant solution becomes 8.0
| x DO romAw PH Densd 8.0 e9:)chood

H, gas 1s liberated from resultant solution
DO et Aot Hy, TR0 DEIGR e

The P¥ of the resultant solution becomes less than 6.0 & 0, gas is liberated

v 29 radnsn PT Dend 6.0 ET°) B89, 00 0; TONY) DEIEL SR
3. i

Cl,0 is formed is the resultant solution

, x POS TB0s0s" (1,0 Déyc

Question Number : 138 Question Id : 8135613658 Display Question Number : Yes Is Question
Mandatory : No

Which of the following 1s arranged in increasing order of solubilities?

208 Sa7r0S° DA TraBoSY 3B S35 & B?

Options :
1% CaC03; < KHCO; < NaHCO;



,  NaHCO; < KHCO3 < CaC04

. « KHCO3; < NaHCO; < CaC05

4 o £aC0; < NaHCO5 < KHCOs

Question Number : 139 Question Id : 8135613659 Display Question Number : Yes Is Question
Mandatory : No

Which among the following is a suitable reducing agent for the synthesis of diborane from

boron trifluoride?
GETD RoFnd’ 807D BJDER Sobsdne Solut 8id Sabsdt

Options :
1 % Pd|Cand H,

, « PdC,
3 ® SHCIE

4 LiAlH,

Question Number : 140 Question Id : 8135613660 Display Question Number : Yes Is Question
Mandatory : No

Which among the following 1s the strongest oxidizing agent?
208 :Jm"g“m.‘iﬁ DB WO BS\S6E3?

Options :

1 % 5?‘1.02



5 % 9103
GeO,

4 v PbO;

Question Number : 141 Question Id : 8135613661 Display Question Number : Yes Is Question
Mandatory : No

The wrritant red haze in the traffic and congested places 1s due to

ErDS 208050 68 HBTVS’ §30) 20t JHBALO ol DAKYIL TR

Options :
1 % CO + CO,y

, x SOz +50;

5 v NO+NO,

4 % CHy+CO

Question Number : 142 Question Id : 8135613662 Display Question Number : Yes Is Question
Mandatory : No

Identify the structure of the compound whose TUPAC name is:

*“3 — Ethyl — 2 — hydroxy — 4 — methyl hex — 3 —en — 5 — ynoic acid "

“3- &P — 2 - ey — 4 — P E) - 3 - &S — 5 — Sans envo " A IUPAC
0 (10 30, 9 G0 85,3 APoA:

Options :



OH

\

COOH

v

OH

COOH

COOH

COOH

/g/_é / \%\ é_\i\_

Question Number : 143 Question Id : 8135613663 Display Question Number : Yes Is Question
Mandatory : No



Match the following

Column -I Column II
a) CONH, 1) Formyl group
b) CHO i)  Amide group
c) COOR u1) Alkylalkanoate
d X 1v) Halo group

Sod T 2HHHGBec

Column -I Column II
a) CONH, ) IS d2orTriw
b) CHO i) D& DATTED
c) COOR i) esg) &5 esey) SRS
d X V) 35¢5° DArEAL

Options :
| » @—ii), (b -1, (c— ii), (d - iv)

5 % (a — ii), (b — iii), (c = i), (d — iv)

3 % (a—ii), (b = iv),(c —iii), (d = 1)

4 x (@—D,(b—ii),(c—iii),(d - iv)

Question Number : 144 Question Id : 8135613664 Display Question Number : Yes Is Question
Mandatory : No

The most unlikely representation of resonance structure of p-nitro phenoxide 1s

T I DTTE g, 08D Ararud’ wd 85 I BrowEd

Options :

1. %



N
e
07 Ny
0
C.
"_,,.N
0% HD
2%
0
I\
o™
3. % O 2 0
8]
N
=
s 07070

Question Number : 145 Question Id : 8135613665 Display Question Number : Yes Is Question
Mandatory : No



Which among the following cannot exhibit tautomerism?

808 D) FTOS” DB/DD 0B DB 0BD)?

0

e
) (i) \/\'c!/

(iii) QOH (1v) @CHE—NGZ

Options :
(1) only

|y (D) sred

(111) only
5 (111) Soghadd
(1) & (1v)
3 % (11) S08ad (1v)
(1i1) & (1v)

, s (i) 208a30 (iv)

Question Number : 146 Question Id : 8135613666 Display Question Number : Yes Is Question
Mandatory : No

An example for a super-cooled liquid is

w8 23D88 3708 emiroen

Options :
Organic fibers

SO\ ﬁ&i}é@éo o
1. % D



Wood
3 % SV

Plastics

28

4.8 = ©

Question Number : 147 Question Id : 8135613667 Display Question Number : Yes Is Question
Mandatory : No

When 2 g of a non-electrolyte solute is dissolved in 50 g of benzene lowers the freezing point
of benzene by 0.4 K. The freezing point depression constant of benzene is 5.12 K. kg.mol >,

The molar mass of the solute, in g.mol ™. is

50 g 8o 6 2 g LIIAIEAL SONIYYE BoBD & 3D T4 I8 04K,
DoED £ DFID gﬂé Ay e ?gmosm Qe 5.12 K. kg.mol™* eond 933)6335:5533'15
TS0 OET? ___g. mol ™2,

Options :

1w 512 g.mol™*
, % 252 g.mol™?

3 % 260 g.mol™*

4 % D44 g.mol™?!

Question Number : 148 Question Id : 8135613668 Display Question Number : Yes Is Question



Mandatory : No

How many grams of glucose (Mol.wt — 180u) should be dissolved in 100g water in order to produce a

solution with 105.0°C difference between the freezing point and boiling point? [K ; for water =
1.86°C/m; K,=051°C/m]

00839 B T 068 86 105.0°C ™ oty 100g 0" Q) e 8
(esea026:500 - 180u) 80 $80) Era3aedo0 Sosrey Sord? K, IS = 1.86°C/m; K, = 0.51° C/m]

Options :
1 % 18 g

2.v 384
3 % 36 g

4.% 769

Question Number : 149 Question Id : 8135613669 Display Question Number : Yes Is Question
Mandatory : No

The half-life of a substance in a certain enzyme catalyzed reaction 1s 138 Seconds. The time
required for the concentration of the substance to fall from 1.28 mgL™* to 0.04 mgL™! is

28 o &S zﬁdé&'i‘ 28 :Jm“g;ﬁn a3g); Lok 138 2Sen. & ;‘Jm"g:p_) mGd
1.28 mgL™* &00d 0.04 mgL™* SLE DA DL

Options :
414 Seconds

| x 414 280w

552 Seconds
2 % 552 DEAoew



690 Seconds
3 690 s

276 Seconds
4 % 276 DS

Question Number : 150 Question Id : 8135613670 Display Question Number : Yes Is Question
Mandatory : No

Smoke precipitator works on the principle of
T 9RNEDSCE HA B DTG

Options :
Centrifugation
93 0HSEHIL

Neutralization by charge on colloids
Serand sro 57y @m%s&omam

Absorption
BT L5

Addition of electrolytes

i]msﬁgéasﬂu oSN

Question Number : 151 Question Id : 8135613671 Display Question Number : Yes Is Question
Mandatory : No



Assertion (A): Helum 1s used as a diluent for oxygen in modern diving apparatus
Reason (R): Helium is a non-inflammable and light gas

AI\S80 (4): rOatodd 8IS Edoh HOLTVE’ e\ awE) DD &OCEAY
56w (R): srdabo Toin) 8D o daky Gid s (od Tah rdw) A

Options:

A and R are correct and R 1s the correct explanation for A
A 208030 R 28 2900200 2000dn R, A 50 20 90308 D6

A and R are correct but R is not the correct explanation for A

5> A 28030 R 96 0andd 520 R, A £ 28 090305 DdHG 576

A is correct. R 1s wrong
A 20 20008, R 20 00008 57¢0

A 1s wrong. R 1s correct
A 20 220008 576D, R 20 20008

Question Number : 152 Question Id : 8135613672 Display Question Number : Yes Is Question
Mandatory : No

Consider the following reactions. Here, hydrochloric acid is prepared by heating X with
another reactant. Find X.

420K
() X + H,S0, — NaHS0, + HCI

) 823K
(i) NaHSOy + X ——— Na,50, + HCI

& Brbs APdedd BOLE’ X &0 D68 Sasradsed SABD PEEES o S0IrLBT.

&5 xbd5ué‘ X
| 420K
(i) X + HyS0, — NaHS0, + HCI
823K

(1) NaHSOy + X —— Na,50, + HCI



Options :
1 % NH,Cl

2. & NaCl

3 » NH,0H

4 % NH;Na

Question Number : 153 Question Id : 8135613673 Display Question Number : Yes Is Question
Mandatory : No

How many “S = 0" groups are present in a H,S,0g molecule?

H,5,05 808" &) “S = 07 drden a)?

Options:

1.% 2

2. % 1

Question Number : 154 Question Id : 8135613674 Display Question Number : Yes Is Question
Mandatory : No



The number of moles of silver chloride precipitated per mole of PdCl, - 4 NH; and PtCl, -
2 NH; with excess of AgN0;. respectively are

1 ar$ PdCl, - 4 NHy 208050 1 26 PECl, - 2 NH; 08830 ) AgN0; & Scoddor
136{ Jodd2 e D6\ AgCl Arde osp| SR

Options :
1 % 2 & 2

, % 2 &1
3% 1&0

4V 2&0

Question Number : 155 Question Id : 8135613675 Display Question Number : Yes Is Question
Mandatory : No

Which of the following has the highest number of unpaired d-electrons?
0B T°835° e }boaaiga’i‘ 20D (20008) d-DVTDeW (10 VOIFD 28?

Options :

| F€2+

5, % Znt

3 & Cu®

g% Ni*¥



Question Number : 156 Question Id : 8135613676 Display Question Number : Yes Is Question
Mandatory : No

The secondary structure of a protein refers to

D AIE), DSoEd Qo) €250

Options:

Fixed configuration of polypeptide backbone
>® oo D0 D6 DT[RBW
= ®

a- helical backbone of polypeptide
D D& DAY a- AP EE DA DB
= )

Hydrophobic interactions
TEYDE 0 STIUN

Sequence of a- amino acids
a- A0S ATV FH0B

Question Number : 157 Question Id : 8135613677 Display Question Number : Yes Is Question
Mandatory : No

The following reaction 1s an example for a/an

So0d VO &L Ce

OCH4 OCH4

NaNH. b

W

Br

Options:

1. %



Chain-substitution reaction

Fyow — DBEDEI WAy

Elimination-addition reaction
De5 DD — Dofwd tﬁﬂé

Substitution-elimination reaction
DAED — DS DD tﬁd5

Addition-elimination reaction
oo — DeSTHD ﬂ.‘}cﬁé

Question Number : 158 Question Id : 8135613678 Display Question Number : Yes Is Question
Mandatory : No

Phenol is heated with CHCl5 and alcoholic KOH to form Salicilaldehyde, This reaction 1s
known as

OTSR EEFD & )05 KOH R0806" 06] 2059 FO2rYire D6\, & vy

Options:

Friedel-Crafts reaction
DES-TD 2

Rosenmund reaction

6 o Sel :‘.’365

Reimer-Tiemann reaction

5206-B205 w6y
3.v S F



Perkin’s reaction
:3"365 ﬁd§

Question Number : 159 Question Id : 8135613679 Display Question Number : Yes Is Question
Mandatory : No

Match the following?

Column - I Column - II

1. H,/Pd — BaS0, 1. HVZ reaction
2. NH, — NH,/ i Etard reaction

ethylene glycol — KOH
3. Red P,/ X, 1. Wolft-Kishner reduction
4. Cr0,CL,/CS, iv. Rosenmund’s reduction

$08 T 2ABAiNAWN?
Sod-1 Sod -11

1. H,/Pd — BaS0, 1. HVZ &6
2. NH, — NH,/ 1. 9RO WO

ethylene glycol — KOH
3. Red P,/X, iil. &6y 8Q™6 LasonIn
4. Cr0,CL,/CS, 1v. G Aok Lobsdeaan

Options :
1 % (1 —=iv),(2 —1iii), (3 —ii), (4 — 1)

, & (1 =), (2~ iv), (3 - iii), (4 — i)

e (1 —=1i),(2 —1),(3 = iv), (4 — iii)

(1-—iv), (2 —iii), (3 = 1i),(4 — ii)



Question Number : 160 Question Id : 8135613680 Display Question Number : Yes Is Question
Mandatory : No

Identify the product of the following reaction. (PCC: Pyridenium Chloro Chromate)

& 308 WO[E" DOVE 683) 0 DB? (PCC: 0G0 §8 §208)

OH
PCC 2

Options:

of
1. %

, s CHy— CHy— CH,— CH,—CH,—CHO

O
3.¢

OO
4, %



